Solid Packaging PreRoll-Er™
Robotik inc OWNER’S OPERATION AND MAINTENANCE MANUAL

MODEL 200-V3

The PreRoll-Er machine never uses vibration to transport cannabis. Learn why
that's so important!

Once cannabis is ground, it's highly fragile. When transported by vibration, the
trichomes can become detached from the particles of the ground cannabis. The

trichome is the part of the flower that contains the highest levels of THC.

When companies use a vibrating conveyor, the heavier particles move faster
than the lighter ones. This results in an imbalance of heavy and light particles
when the cones are filled and, therefore, inconsistent THC levels.




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

INTRODUCTION

This instruction manual covers specific information on installations, operations, and maintenance of the
PreRoll-Er™ and its components. This equipment is a high-quality machine of rugged design conceived to
give long hours of trouble-free service. Continued performance will not be maintained unless the
precautions and procedures outlined in this manual for handling, installation, initial operation and
maintenance are observed. Save this manual for future reference and keep it readily available.

CAUTION:

Failure to observe the instructions contained in this manual could result in personal
injury and property damage, and may void the warranty. Read this manual carefully
before installing and using the PreRoll-Er™.

If any information about operation and maintenance is not listed in this manual, additional
information can be obtained by contacting:

Customer Services

920 Boulvard industriel

Terrebonne, QC J6Y 1X1

Tel.: (514) 360-1292 PreROII-E"TM
Toll Free: 1-855-360-1292 (USA / CAN)

E-mail: info@preroll-er.com
www.Preroll-er.com

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 2 Of 161



http://www.preroll-er.com/

Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L Robotik inc
B =Tol o Lo TTors Iy o=l T or=Y o] o[- RN 8
Y Yol YT g Tl DY Yol g o] d o [P P PSPPSR 8
Y Yol YT g oI o =Yoo= Y d o o |3 S PRPOPPRPRRt 8
NaMEPIALE INFOIMALION ....cii it e e e sbae e e e s bt e e e e sbeeeessbteeesssteeessnnes 9
Y=Y (=] 87U 10
LU Y11= AU 10
SATELY RUIES oot e e e et e e e et e e e e abe e e e e ataee e e abaeeeeaabeeeeenbaeeeeanbeeeeeanseeeeennreeas 11
Y (=1 8V (e (U110 012 S PRSP 12
Y} (=1 8V e L2V TP SPR 13
) - (U K T D P PTPPTRPPPPPPTRt 13
AALBIIMNIS ettt b e h e sttt et b e bt sh et she e e a et et e e bt e ehe e eae e eateeabe e bt e beenbeesaeeeaeeenrean 13
Green Led (Normal Operating Condition) ........ccuiieieciiieeeiiiie et e 13
Yellow Led (Change of Normal Operating Condition) ........ccccceeeciieeiieeciiee e 13
Red Led (Dangerous or Hazardous CONditioN) ........ceeecuvieiieescieeesieeseeesteesieeeseaeesveessveeesrne e 13
Y=Y AV X o] (o 1 T U PPPP 14
Safety INTEIrIOCK SWITCRES .....ooiieiiee et e e e e e e e aa e e e e bt e e e eensteeeeannaeeenan 14
Enclosed SWitCh DiSCONNECEON ... .coiuiiiiiiieie ettt st st 14
Pneumatic SOIENO0IA ValVE......cccuiiiiieee et 15
] 0 TN 15
Y Yol Y[ a Tl D=t Yol g o] d o  JP PSPPSR 16
STALION OVEIVIEW ..ttt et st e s s e e s s e e s s b e e e s s b e e e s samreeesenrenes 16
] =1 o o 1 OO PP PPPOPPPTN 17
SEATION 2 e e e e s e e e s a e e s a e e s anaeeenas 17
SEALION 3 e 18
SEALION 4 e sre e 18
SEALION S o s s 19
] =1 o o 1 OO PTSTOPTPT 19
] =1 o o 1 OO PTRFOPTPT 20
] =L o o 2 TP PT SRR 20
SEALION O i 21
SEALION 10 oeiiiiiiiiiii e a e 21

REVISION 0

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 3 of 161




Solid Packaging OWNER’S OPERATION AND MAINTENANCE MANUEL PreRoII- Er™

L Robotik inc
SEALION L1 oot a e s a e s ra e e 22
) =11 o o 1 TSSO 22
GENEIAL FUNCHION ..ttt ettt ettt e s bt e e s bt e s bt e e sbeeesabeeesnseesabeesaneeesabeeanns 23
HIMI / PLC ettt et ettt e st e st e et e et e e beesbaesatesabesabeenbeeabaebaessbeeabeenbeestaabaesssesasesnteenteenseenses 23
oo 1o =SS S 23
MaNUAL POSTEIONING...cci ittt ete e e e e e e e et e e e e saba e e e e abaeeeeenteeeeeanbeeeeennseeeeensenas 23
Station 1: Base + GUAIT ...cc.eeiuiiiiieiieieet ettt ettt ettt sttt e e b e s b e sae e st e et e e nbeesbeesheesane e 23
Station 2: Cone distribution +RODOL.......cooiiiiiiiiie e 23
STALION 32 CONE OPENET ittt e e ettt e e e e e s s bbbttt e e e e s esaabbbaeeeeeeses s snsraaeeeeesesaanenes 23
STALION 42 DOSING ceeiieiiiiiieteee ettt ettt et e s e s sttt e e e e e s s s bbbt e eeeeesesaaabtbaaeeeeesesasbtbaeaeeeseenasnrrnes 23
) - L To] W T o1 1 4] o - Lot o] o EEU PPNt 24
SEALION B TWIST ...t e e s ra e e ra e e 24
Station 7: CUtting and FIatteNiNg. ... e cueiee i e e e s e e e re e e s nreeeean 24
Station 8 (OPtioNal): Oil INJECTON ..cc.uvieiieeciee ettt ettt e s e e e ta e e sate e ebeeesaseesareeebaeesnreeenns 24
Station 9: Product Validation .........c.eieiieiriiiiiieiee ettt ettt ettt snee e b e enee 24
Station 10: Clean Tip @Nd CONE ....oeiicciiieeeeiiee e cciteee e et e e e et e e e et e e e et r e e e esaraeeeesasaeeeesssaeeesansaeeesansreeenan 25
Station 11: Cle@ning BrUSh ......cuiiie ettt e et e e e et e e e et e e e e e ataeeeenteeeeeensseeesannrneenan 25
Station 12: Straight Tube Feeder (Optional) .....c..eeeeeiiiieceeeeee e e e 25
(07071010 0 TR (0] o V1 o V-SSRSO PP PPTPUPPPPPPPIOt 26
INTEIAT VEIIFICATION Lottt sttt et r e s 26
Standard Operating ProCeAUIES (SOP) ....cccuiiiiiie e eceee ettt eete e etee e stteeete e e sta e e s teeebaeesbeeesseesnseessaeesareean 26
Setting The FIOW CONTIOIS ....oiiiiiiiee ettt et e e et e e e et e e e et e e e e e asaeeeesasaeeeeansaeeesannseeanan 26
R ReTo) oty AT g {Tor=Y d o] o RSP S 26
Energy Sources Activation (Air/EIQCEIICITY)..cuue it ettt et eeanas 26
e To] a6l o =T V= PP 27
e Te] Nl aT=ae =Ty ol T ] 4 o] o HR U 27
Tooling Disassembling and ASSEMBIING......ccccuiiiiiiiiie e ebae e e 32
] =1 o o 1 TR 32
] =11 o o 1 TP 33
STALION 4 oo 34
SEALION 5 o e 38
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAGE 4 of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

SEALION 6 .o e 41

) =1 o o 1 PO RPPEPOT 42

) =L o o 1R PSR PPUPP 44
Preventive MaiNtNanCe .......occviiiiiiiiiiiii e 45
Preventive maintenance at 500000 produced UNIt .......cceeeeiiiiieeiiiieeeeiieee e e e e eaee e 45
Preventive maintenance at 1000 000 produced UNit........ccceccuviieeiiieeeeiiiieee e e ecree e scrae e e eeaaee e 46

) = Ya o) o I Yo [T 4 T=T o PPN 47
) =11 o o 1 PRSPPI 47
SEALION 2 o e e s 48
SEATION 3 e e e 51
SEALION 4 <. e e s e s e s ree s 52

) =11 15 T PP PP SPT U PPUPRP 53

) =11 o] o 1 PP PP SRT PSRRI 55
SEATION 7 e e e s e s e s 57
SEALION O e e 58

1) =1 o o 1 PRSP PPEPOP 59
Preroll PAper LOAGING ... .uuiiiiiiee e ccieee ettt sttt e s et e e e etee e e et e e s e sabee e e enbeeeesabeaeeesbeeesennseeeesnsenas 60
(00 T I 1V O '] o] o U PP PP PPUPPPPPRUPINt 63
Removing Cone Tray From MacChing .........cooccuiiiiiiiiie ettt e e 63

1 Y= I TN o o T I =SSR 65
Placing the Cone Tray in the Maching.........cccuiiiioiie i 66
(0T aT a1 o TR (o= o [ 1o Y- RPN 68
Drawings @nd SPAre Parts......cuuiiiiciiieiiiiiie et ee ettt ee et e st e e et e e e st r e e e e atae e e s ataeeeeaataaeeeantaeeeenrraeeean 69
MEChANICAl DIAWINGS .. .uveiiiiiiie ettt tee e e e et e e e et e e e e e bt e e e eeabee e e e abaeeeeeabeeeeessbeeeeeanteeeeenrenas 69
e To] o= 69
Y YoYU |l oYy iTo] o [T o Y-SR 73
STAtION 11 BASE...uuiiiiiiiiiiiiii e 74
BaSE ittt s 74
LCTUE: [ o PP TSP PUTOTRR 75
TUMN Table @N0 CrOWN ...ciiiiieiiie ettt et e e s e s e bt e e sre e e sne e e s s e e snenesaneeanne 76
SNAKET .t sttt b e b b sttt er e e reenneenane e 77
Frame Corner RiGHT E-STOP ...uuiiii ittt et ree e e e tre e e et e e e e bae e e eabee e e eareeas 78
PROPERTY OF SOLID PACKAGING ROBOTIK INC PAGE 5 of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

Frame Corner BetWeen Plates.......coi it 79
BaSE SEIUCTUIE .. e s s 80
CONTIOL PN ..ttt ettt e s bt e e s bt e st e s bb e e sabe e e bbeesabeesabeeesareens 81
FramE DOOK ... ..iiiiiiiiii ittt 82
PREUMALIC PAN@l.... ettt st s st st e 83
Left SErviCe DOOK FIrame ....couiiieeieeieeeite ettt ettt sttt et b e bt e st st e b e ns 84

S [To Tl B 1o O PO TP PPTUUPPOTOPPRURROt 85
HUD Pin LIN@ar GUILE ... .eieiiieiiii ettt ettt ettt ettt e sabe e st e s sbt e e sabee e saeeesaneesmeeesaneeenns 86
(00T o[l VT d V=T G @Y 1T Vo =T USSR 87
TADIE RISEI <.ttt ettt sttt b e bt e s bt e s bt s at e et e e be e sb e e s ab e st e e b e e beenns 88
Station 2: Cone distribULION ....o.uiiiiiiiii e s s 89
CONE ISIIDULION ...eiitiiiiie ettt ettt e s bt e s bt e s ab e e sabe e e bbeesabeesabaeesareens 89
[20e] Yoy d ol A Y310 0] o V2P 91
Pick and Place RODOT .....c.eiiuiiiiieieeee ettt sttt et ettt st 92
o A e b Tl =Y & Y ] o] oo o AU 93
Pick & Place Right SUPPOIT . .eeiiii ittt e e e e e e bee e s e saree e e eareeas 94
o A o - [l o o T - 1V PR SR 95

) - L Te] a NS H 6o T 1=l @] o 1=T s 1= PPN 96
) - Lo ] o 1R S B Lo Ty [ oV - PNt 97
D0 LY 1 ¥ = - | N 98
Yo [T aY = SN T 1= PP 99
Yo [T aY -y o PSPPIt 100
NEEAIE .ttt ettt et b e e s bt e s h e e sat e st e et e e be e e bt e she e eat e et e e beenbeesheesaneeas 101
FEEAING SYSLEIM ...t e e e e e s e st e e e e e e s esbaaaeeeeeeeessnnssaenneeeesesnnsenns 102
TUMDBIEE <ttt b e s bt st e st e b e b e e s bt e sbeesaeesateebeenbeesbeesaeenas 103
HOPPEE POST . e e e s e e e e e e e e e s e e e e e e e e e s e s e sasaaaaeaaaaanaananns 104

) =1 [o] d BT o] 41 o - Tot [ ] o H PP PRSPPI 105
SEATION B TWIST .. e e et e e s s e e s s e e s ene e e e s sne e e e s eanee 106
Station 7: Cutting and FIatteNiNG.......ceeei e e e e e e r e e e e e e e 107
Station 9: Product Validation ..........cooeiiiiiiiiiieeee et 108
EXIT CRUTE c.neee ettt st sttt b e s bt e st e s n e e e e beesneesnee e 108
PICK @NA PIACE ...ttt st sttt ettt et r e re e e 109

R Yor: | L= PRSP PRPRTOURPRTIN 110
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAGE 6 of 161




Solid Packaging " _ ™
Pttt OWNER'’S OPERATION AND MAINTENANCE MANUEL PreRoII Er
Station 10: Clean Tip @Nd CONE ....ciiiciiiieicieee ettt ectte e e e ectte e e e e bte e e e sbtaeeeebteeesebeeeeesnseeeesennes 111
Station 11: Cle@aning BrusSh .....oouiiii ittt e e s e e s s te e e s sbae e e s s snraeeesanes 112
Station 12: Straight Tube Feeder (Optional) ......ccceieciieiciie e 113
Cassette Opening ASSEMDIY .....c.uvii et e e e e e e 114
1)L Te 1= RSP SROPUPRUPPPPRN 116
TUbe Loading ASSEMDIY ....ciiiiiiiei ettt e ette e e e rtte e e e et e e e e ebte e e e ebaeeeeenraeeeeanes 117
ElECEMICAl DIaWINES .uveeeieiiieiiiiieeecciiee e sttt e sttt e e e st e e s st e e e s et e e e s sbteeeesbeaeessabaaeessseeeessseaeesssseeessnen 118
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAGE 7 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

TECHNICAL SPECIFICATIONS

MACHINE DESCRIPTION

PreRoll-Er™ is designed to automatically fill and seal pre-roll cones/tubes with Cannabis (regular or
infused). It is adaptable for cannabis weight dosages from 0.25 to 1.5 grams. This chapter is to illustrate
how PreRoll-Er™ is divided in machine sections

MACHINE SPECIFICATIONS

Net Width

92" >/3,in [2340.9 mm]

Net Height

79 7/16in [2017.6 mm]

Net Depth/Length

49 % /64 in [1263.2 mm]

Width including open doors

147 °/32in [3741 mm]

Depth /Length with open doors 105 in [2667 mm]

Flow rate 20 CFM [565 L/min]
90-110 psig [6.2-7.6
Pressure
bar]
Pneumatic connection @1/2 in NPT

Operation temperature range

60-65°F [16-18°C]

Optimal humidity range

35% to 45%

Electrical Power

240V/20A/ 1Ph/ 60Hz

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 8 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

NAMEPLATE INFORMATION

Important ordering information

A nameplate is riveted on the base, between the enclosed switch disconnector and the pneumatic

solenoid valve.

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 9 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII-Er ™

SAFETY
USER SAFETY

User’s safety is a priority for installation, operation, and maintenance. Select proper clothing, tools, and
handling methods to avoid serious accidents. All safety rules and precautions listed in this manual must
be followed by users. Every user must receive a proper Preroll-Er™ training.

WARNING:

1. Operators must be aware of pneumatic and automated systems to take
appropriate safety precautions preventing physical injuries.

2. To avoid risks of serious injuries and property damage, all unprescribed methods
to install, operate and maintain the PreRoll-Er™ in prohibited. Prohibited
methods includes all modifications to the equipment or using none supplied parts
with the machine.

3. Contact a PreRoll-Er™ service representative before proceeding if there is any
uncertainty regarding the appropriate use of the equipment.

4. Electric shock, fire, explosion, physical harm or environment damage may occur
if pneumatics actuators are damaged. Do not operate until the problem has been
fixed.

5. Operating without safety devices exposes operators to risks of serious injuries or
death. Never operate unless the supplied safety devices (guards, etc.) are
properly installed and in function.

CAUTION:

1. Risk of injury or/and property damage. (Operating without referring to this
manual may cause heating or/and unstable machine function.)

2. Do notremove guards.

3. Do not change or modify service procedures without approval of a PreRoll-Er™
service representative.

REVISION 0 propeary or soLp packacine rosoriine | PAGE 10 of 161




Solid Packaging OWNER’S OPERATION AND MAINTENANCE MANUEL PreRoII- Er™

L____Robotik inc

SAFETY RULES

Risk of injury or/and property damage

Users must follow those safety rules:

1.

Users verify that all guards and safety devices are in place and functional before running the
PreRoll-Er™.

Users verify that all tooling are properly held in positions and functional before starting any
operation.

Users verify that the PreRoll-Er™ surrounding area has enough light for accurate operation
visibility. Users also verifies that this area is dry and free of any obstructions.

Users must be given and understand instructions regarding safety listed in this manual. All PreRoll-
Er™ maintenance and repair work should be performed by users familiar with this manual.

Users must NEVER adjust or service while the PreRoll-Er™ power is “ON” and controls are in “ON”"
position.

Users should turn OFF the PreRoll-Er™ after completing the production run.

Users must turn OFF main disconnect switch when changing tooling or performing maintenance
work.

Use rag or gloves to handle sharp cutting blades in station 7

Cutting blades must be securely fastened in the machine spindle with the proper accessory. Never
try to tighten cutting bits or tools by hand.

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 11 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

SAFETY EQUIPMENT

Risk of injury

Use safety equipment in the work area according to user’s company regulations:

1. Safety glasses

=

2. Protection shoes

RS

s

3. Protection gloves

e
\ ol

Wy

4, Mask

5. First-aid kit

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 12 of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

SAFETY DEVICES

Following safety devices should always be in position and in good working conditions before operating
PreRoll-Er™

STATUS LED

Function: It has a steady lighting effect providing signaling solutions to improve safety and productivity of
PreRoll-Er™.

ALARMS

The alarms are displayed by the led lights installed on the guard of the machine. They are three (3) types
of alarms represented by three (3) colors:

GREEN LED (NORMAL OPERATING CONDITION) ’

Status: The PreRoll-Er™ is Ready to run, or is running
Required action: No action required

YELLOW LED (CHANGE OF NORMAL OPERATING CONDITION) {:}

Status: Some values are approaching their limits. (Example: need cannabis loading)
Required action:

1. Operator alarm acknowledgement

2. Reset of fault value in HMI

RED LED (DANGEROUS OR HAZARDOUS CONDITION) ’

Status: A condition has stopped PreRoll-Er™. (Example: safety doors opened)
Required action:

1. Operator alarm acknowledgement

2. Reset of fault value in HMI

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 13 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

SAFETY ENCLOSURE

Function: It provides protection against moving parts, flying debris caused by possible equipment failure,
cannabis dust and noise. Door opening while PreRoll-Er™ is operating will shut off the power and flush

residual compressed air from the machine.

SAFETY INTERLOCK SWITCHES

Function: They monitor the closed/opened positions of the safety enclosure doors.

ENCLOSED SWITCH DISCONNECTOR

Function: It is the main electrical switch to disconnect the PreRoll-Er™ power supply.

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 14 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

PNEUMATIC SOLENOID VALVE

Function: It allows the PLC controller to shut-off the compressed air inlet into the machine. If an E-Stop or

a safety enclosure door is opened, the compressed air supply will be closed.

E-STOP

Function: It is used for emergency in situations where PreRoll-Er™ needs to be completely shut off.

|

A. Push to shut off

B. Twist clockwise (right) to release

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 15 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

MACHINE DESCRIPTION

STATION OVERVIEW

|
|
STATION #9-/4'|_

el
STATION #12 STATION #2 I

>,

STATION #1 !_
|

«
{
H
by

STATION #3 |
| {1

s, SO |

|7
[

\:l STATION #7
STATION #8

e

2N

|
:
N
¢ I STATION #4
(] ’ l

_IP\ STATION #5

STATION #6

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 16 of 161




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L____Robotik inc
STATION 1
STATION 2
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 17 Of 161




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L____Robotik inc
STATION 3
STATION 4
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 18 Of 161




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L____Robotik inc
STATION 5
STATION 6
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 19 Of 161




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L____Robotik inc
STATION 7
STATION 8
(Optional): Oil Injector
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 20 Of 161




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L____Robotik inc
STATION 9
STATION 10
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 21 Of 161




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L____Robotik inc
STATION 11
STATION 12
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 22 Of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

GENERAL FUNCTION

See mechanical drawings for better general machine function understanding.

HMI /PLC

HMI is used and controlled by the user for all the machine operations while in production or maintenance.

PLC is the machine’s computer that is programmed according to the Preroll and Cannabis product. HMI
and PLC function together.

TOOLING

Function: Preroll-Er™ needs a set of tooling for each cone / straight tube format it is using. The tooling
represents a group of components on the machine which are custom built according to the type of cone
to be used. Even the same size of cones (ex: 98/26mm) from two different suppliers would need a separate
set of tooling.

MANUAL POSITIONING

Function: Used for vertical positioning of assemblies at Stations 2,5,6 and 7.

STATION 1: BASE + GUARD

Function: The carousel turns in cycles to transport cones from station to station.

STATION 2: CONE DISTRIBUTION +ROBOT

Function: Grabs stacks of paper cones and dispenses them one by one through the feed tube and into the

cone holders.

STATION 3: CONE OPENER

Function: Detects if there is a double picking paper and also pushes air with a nozzel to push the paper

further down into the cone holder.

STATION 4: DOSING

Function: Distributes the proper weight (grams) of cannabis into the cone. The tumbler is filled with about

a pound of cannabis. It rotates to feed cannabis into the funnel where it is detected by two lasers for high
and low quantities. After, the adjustable gate is adjusted to give the desired cannabis flow. Cannabis goes
through the gate and falls into the measuring cup. The measuring cup sits on the scale which is very
precise. Once this is measured, the turret turns 180 degrees to go to the secondary funnel which will
vibrate to bring cannabis into the cone. At this point the shaker would have lifted our cone into position.
Once the cone is detected by the three fiber optic sensors as being a good cone, product will flow into the
cone. The needle is used to do the bottom compaction of the cannabis preroll for about the first
centimeter and a half (1.5cm). The tuning of the compaction is really controlled by the needle. Once this
step is done the carousel will turn to station 5 which is top compaction of the cannabis preroll. (Station 4:
bottom compaction/station five: top compaction).

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 23 Of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

STATION 5: COMPACTION

Function: It is used to compact the upper part of the cannabis preroll. The Inverted Funnel centers the

cone under the Flower. When the flower is lowered, it opens to grip the paper. Then, the Station 5
Compaction Rod pushes the cannabis down in the cone for compaction.

The principle behind the compaction on station 5 could be explained as followed:
Imagine holding a cannabis preroll as shown:

The harder you hold the cannabis preroll, the harder it can slide through your fingers when you press the
cannabis with the rod. This physical phenomenon is due to friction between your finger and the paper
cone. The harder you press the cannabis preroll between your fingers, the more friction you get. This
friction force is in reaction to compacting force of the rod. To make it easy to understand, the harder you
hold the cannabis preroll, the more compaction force you will be able to apply on the cannabis with the
station 5 compaction rod.

STATION 6: TWIST

Function: Twist the tip of the cannabis preroll. The gripper grabs the cannabis preroll and lift it a little bit

while the twisting gripper twists the paper. The lift is to avoid paper tearing when twisting.

STATION 7: CUTTING AND FLATTENING

Function: While the gripper holds the cannabis preroll, the blade cuts the excess amount of twisted paper.
Then, the flattening rod flattens the twisted tip of the cannabis preroll.

STATION 8 (OPTIONAL): OIL INJECTOR

Function: A cannabis oil dispensing system can be installed on station 8. The dispenser uses a syringe to

inject a precise oil volume into the cannabis preroll.

STATION 9: PRODUCT VALIDATION

Function: Used to grab the cannabis preroll and place it on a second scale to verify if it is weighting the

proper value (grams). If the cannabis preroll is good, it falls through the chute in the good product bin. If
the cannabis preroll is not good, it falls through the chute in the reject bin.

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 24 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 10: CLEAN TIP AND CONE

Function: If an empty or damaged cone is detected at Station 4, it will not be cycled through all the other
stations and will go directly to Station 10 to be rejected. The Cone Pusher Cylinder will eject the cone and
a vacuum will remove it from the Cone Holder and send it to the reject bin.

STATION 11: CLEANING BRUSH

Function: Brush moves up and down to clean the Cone Holder.

STATION 12: STRAIGHT TUBE FEEDER (OPTIONAL)

Function: Straight Tubes are placed into the Cassette and are distributed into the Tube Holders be cycle
through the PreRoll-Er™ for cannabis filling operations.Cassette Opening Assembly

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 25 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

COMMISSIONING

INITIAL VERIFICATION

Follow these precautions before starting the PreRoll-Er™.
1. Make sure that the unit is powered off.

2. Wipe and cleaned all the machine

3. Inspect the machine to spot any anomalies or components not properly installed / secured.
4. Remove all objects on the PreRoll-Er™

STANDARD OPERATING PROCEDURES (SOP)

SETTING THE FLOW CONTROLS

1. Identify the flow control on every cylinder

2. Set slower
3. Set faster

TOOLING VERIFICATION

Make sure that the proper Tooling Kit is installed on the machine according to the cannabis product.

ENERGY SOURCES ACTIVATION (AIR/ELECTRICITY)

See pages 13-14

1. Turn enclosed switch disconnector ON.
2. Turn pneumatic solenoid valve ON.

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 26 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

TOOLING CHANGE
TOOLING DESCRIPTION

*Tolling images in this section are for reference only.*
Have the following in hand before proceeding with the tooling change.

Tooling Kit

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 27 of 161




Solid Packaging ) _ ™
| Robotik inc OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

Cone Holder (10x) (Station 1)

ﬁu

Cone Distribution tube (Station 2)

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAGE 28 Of 161




Solid Packaging " _ ™
| Robotik inc OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

Needle (Station 4)

Funnel Base Blank (Station 4)

Angle Funnel Star (Station 5)
r

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 29 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Compacting Pin (Station 5)

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 30 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Rubber Gripper Twist (Station 6)

Scale Funnel (Station 9)

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 31 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

TOOLING DISASSEMBLING AND ASSEMBLING

STATION 1

Disassemble/assemble Cone Holder by removing O-ring (use screwdriver) (10x).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 32 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 2

Disassemble/assemble Cone Distribution Tube (use metric hexagonal key).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 33 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 4
Disassemble/assemble Needle (by hand).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 34 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Disconnect/connect pneumatic tube (by hand).

4mm

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 35 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Disassemble/assemble Sanitary Clamp (by hand).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 36 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Disassemble/assemble Funnel Base Blank (use metric hexagonal key).

2.5mm

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 37 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 5
Disassemble/assemble Compacting Pin (use metric wrench).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 38 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Disassemble/assemble Sleeve Compacting Pin (by hand).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 39 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Disassemble/assemble Gripper Blank (use metric hexagonal key).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 40 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 6

Disassemble/assemble Rubber Gripper Twist (by hand).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 41 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 7
Disassemble/assemble Push Pin (use metric wrench).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 42 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Disassemble/assemble Gripper Auto-Centering Blank (use metric hexagonal key).

2.5mm

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 43 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 9
Disassemble/assemble Scale Funnel with scale base (by hand).

2mm

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 44 of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

PREVENTIVE MAINTNANCE

Note: Contact Solid Packaging Robotik inc for more information on preventive maintenance.
PREVENTIVE MAINTENANCE AT 500000 PRODUCED UNIT

Lo Nk WDN e

T T S Y
0o N O Ll A W N L O

Inspection of usage/wear of all components

Replacement of rubber seals on pushrod podiums

Replacement of the needle spring

Replacement of Station 9 Orings for springs and delrin plunger pins
Replacement of Station 5-star Oring

Replacement of Station 9 foam grippers

Replacement of Station 2 index Orings

Replacement of twist Orings

Replacement of Station 7 cutting blade

. Inspection of all air fittings and connections to ensure the absence of air leaks

. Recentering and alignment of stations

. Inspection of fiber optic cables

. Inspection of the electrical system and retightening of terminals

. Inspection of the dosing system, gate, and suspension.

. Inspection of air filters

. Inspection of the tumbler bearing

. Full diagnostic and written report to the client listing all potential problems

. Dismantle cleaning of pushrods, cone holders, shaker rod, and all other components difficult of access

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 45 Of 161




Solid Packaging OWNER’S OPERATION AND MAINTENANCE MANUEL
L Robotik inc

PreRoll-Er™

PREVENTIVE MAINTENANCE AT 1000 000 PRODUCED UNIT

W o Nk W

N P P P PR R R R R PR
O VW 0O N OUl b W N B O

Inspection of usage/wear of all components

Replacement of rubber seals on pushrod podiums

Replacement of the needle spring

Replacement of Station.9 Orings for springs and Delrin plunger pins
Replacement of the Station.5-star and Oring

Replacement of Station.9 foam grippers

Replacement of Station.2 index Orings

Replacement of twist Orings

Replacement of Anvil on station 7

. Replacement of Station 7 cutting blade
. Inspect and/or replace gaskets on all cylinders.

. Recentering and alignment of stations

. Inspection of fiber optic cables

. Inspection of the electrical system and retightening of terminals
. Inspection of the dosing system, gate, and suspension.

. Inspection of air filters

. Inspection of the tumbler bearing

. Full diagnostic and written report to the client listing all potential problems

. Inspection of all air fittings and connections to ensure the absence of air leaks

. Dismantle cleaning of pushrods, cone holders, shaker rod, and all other components difficult of access

CONFIDENTIAL INFORMATION

REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 46 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION ADJUSTMENTS

STATION 1

Adjust the Cone lifters nuts to the desired paper cone height for all stations (use metric wrenches (2))

13mm

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 47 of 161




Solid Packaging " _ ™
| Robotikinc OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

STATION 2
Adjust cone stack gripper width. The cone stack must stay in the closed gripper. Make sure not to flatten

paper cone with the gripper. (Use metric hexagonal key and metric wrench)

4mm

CONFIDENTIAL INFORMATION PAGE 48 of 161

REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Loosen both knobs (by hand).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 49 of 161




Solid Packaging
L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Position the paper holder gripper between first cone stack paper edge (green arrow) and second cone
stack paper edge (red arrow).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 50 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 3

Adjust height of air nozzle (by hand). Adjust flow control (by hand).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 51 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 4

Adjust height of Station 4 with handle (by hand)

Leave 7mm clearance between the paper cone and the Cone Former Blank.

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 52 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 5

Adjust gripper height using screws (2) to have the thickness of a paper (green arrow) between the Angle
Funnel Star and the Flower. (use metric hexagonal key).

/\mm

Lower the Compacting Pin to open the Flower (by hand).

-

__ ¥
pPreRoll-¢er
98/26 Reeflée

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 53 of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

Center the Angle Funnel Star in both X and Y axes using screws (2) (red arrow). (use metric hexagonal key).

s
mp‘ened' Flowe

" in Angle Funnel Star

Y

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 54 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 6

Adjust gripper width depending on type of paper cone angle and cannabis dosing (use metric hexagonal

key and metric wrench).

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 55 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Adjust gripper hight (use metric hexagonal key).

4mm

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 56 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 7
Adjust blade opening stroke (use metric hexagonal key).

4mm

4mm

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 57 of 161




Solid Packaging " _ ™
| Robotikinc OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

STATION 9
Adjust pick & place grippers centered on scale funnel (use metric hexagonal key).

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 58 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 11
Adjust lower brush stroke limit (use metric hexagonal key).

4mm

4mm

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 59 of 161




Solid Packag , -
iR:lfoglgli::g OWNER’S OPERATION AND MAINTENANCE MANUEL PreRoII. Er
PREROLL PAPER LOADING

IMPORTANT: Select cones model that matches the tooling installed on the machine.
Four boxes of cones should be available in order to make sure machine operation is not interrupted due

to missing of cones. Follow steps as shown below (procedure can vary depending on the cone
manufacturer).

Place box opening side up

Open box

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 60 Of 161




Solid Packaging " _ ™
| Robotik inc OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

Open tap

Pull cone tray out of the box

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 61 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Pull up the separators to remove them

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 62 of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

CONE TRAY OPTION
REMOVING CONE TRAY FROM MACHINE
Release handle while supporting the tray holder by hand.

Lower the tray holder using handle.

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 63 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Use openings to push on trays.

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 64 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

FILLING THE CONE TRAY

Fill the cone tray with cone stacks holding the lower cone of each by hand.

AN

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 65 of 161




Solid Packaging
L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

PLACING THE CONE TRAY IN THE MACHINE

Hold the cone tray by hand

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 66 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Raise the cone tray holder by hand

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 67 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

CANNABIS LOADING

At least 3 pounds of cannabis at a humidity level of 10-12% needs to be available for production. The

grinding size of the product should be between 1.5 to 2.5 millimeters.

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 68 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

DRAWINGS AND SPARE PARTS

MECHANICAL DRAWINGS

TOOLING

ﬂl]ﬂllﬂﬂllllﬂm@

Tt}

%

STATION #1

STATION #4

N\

=

N
O/®
,\@'
:‘@u Q00000000000

0
T

STATION #5 STATION #6

(5

STATION #7 STATION #9

PARTS LIST

Qry PART NUMBER

3 CAMEC000051

CAMEC000088

24 |CAMECD00198

CAMEC000452

CAMEC000453

CAMECD00007

CAMEC000808

CAPRT000236

oo |~ @fofn]w|m|<]d

CAPRT000342

=]

CAPRT000572

CAPRT000718

CAPRT001227

CAPRT001228

CAPRT001716

= k) N ) )

CAPRT001777

CAPRT001805

CAPRT001210

CAPRT001911

CAPRT001973

1
1
2
2
1
1
1
1
1 CAPRT000710
1
1
1
1
1
1
1
2
1

CAPRT002476

10 |CASSY000102

CASSY000407

S-BHCS-M3x 10

S-SHCS-M3x 10

S-SHCS-M3x 18

SW-FLAT WASHER - M3

e fofn] e

SW-SPLIT LOCK WASHER - M3

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 69 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION #1

R
a—

STATION #4

STATION #5 STATION #6

(=]

o =

STATION #7 STATION #9

PARTS LIST

Qry PART NUMBER

3 |CAMECD00051

CAMECD00088

24 |CAMEC000108

CAMEC000452

CAMECD00453

CAMECD00007

CAMECD00208

CAPRT000223

omumu&un_a

CAPRT000235

CAPRT001227

CAPRT001228

CAPRT001623

CAPRT001716

CAPRTO001777

CAPRT001780

CAPRT001885

CAPRT001910

CAPRT001911

CAPRTD01973

1
1
2
2
1
1
1
1
1 CAPRT001538
1
1
1
1
1
1
1
2
1

CAPRT002476

10 |CASSY000104

CASSY000488

S-BHCS-M3x 10

S-SHCS-M3x 10

1

2

8

2 |S-SHCS-M3x18
4 SW-FLAT WASHER - M3
2

SW-SPLIT LOCK WASHER - M3

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 70 of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

b
ﬂ@ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ

([ @

®\oo:- o::/.

STATION #2 STATION #4 STATION #5 STATION #8& STATION #7 STATION #9

0
2 eeeel
® @G

y
:

ﬂ[ll][lﬂﬂll[l[ﬂ%}
eidon
ol -

STATION #1

PARTS LIST
PART NUMBER
3 | CAMEC000051
1 CAMECO000088
24 |CAMEC000198
1 CAMEC000452
1 CAMEC000453
2 | CAMEC000207
2 |CAMEC000208
1 CAPRT000288
1 CAPRT000498
1 CAPRT000498
1 CAPRT000572
12 1 CAPRT001227
1
1
1
1
1
1
1
2
1
1

H
[}
3

voonxaou-;ww—ﬁ

CAPRT001223
CAPRT001323
CAPRT001718
CAPRT001777
CAPRT001210
CAPRT001011
CAPRT001872
CAPRT001974
CAPRT002476
CAPRT002572
CASSY000104
CASSY000498
S-BHCS-M3x 10
S-SHCS-M3x 10
S-SHCS-M3x 16
SW-FLAT WASHER - M3
SW-SPLIT LOCK WASHER - M3

r
@
=)

[
N
s frfo|o]-

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 71 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

/@

[Illl][lﬂll[lﬂll[k@

STATION #1

i 0000000000000

STATION #4 STATION #5 STATION #6

ONC o5

STATION #7 STATION #9

PARTS LIST

-

PART NUMBER

w

CAMEC000051

CAMEC0000E3

2

CAMEC000188

CAMEC000452

CAMEC000453

CAMEC000207

CAMEC000208

CAPRT000415

'Dmﬂomawm—rg

CAPRT000428

CAPRTD00488

CAPRT000572

CAPRT001227

CAPRTO01228

CAPRT001323

CAPRT001718

CAPRTO01777

CAPRT001210

CAPRTO01911

CAPRT001€73

CAPRT001285

wlalplalalalala]a]a]a]a]a]a]olvo]=]=

CAPRTD02476

5]

CASSY000102

CASSY000406

S-BHCS-M3x 10

S-SHCS-M3 x 10

S-SHCS-M3x 16

SW-FLAT WASHER - M3

1| | o] @ rof -

SW-SPLIT LOCK WASHER - M2

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 72 of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

MANUAL POSITIONING

Note: Included in Stations: 2-5-6-7

PARTS LIST

ITEM ary PART NUMBER

CAMECD0D0029

CAMECD00330

CAMECD0DE31

CAMECDDD333

CAMECDDD335

CAPRTO01082

CAPRTO01083

5-FHCS - MEx12

oo | =1 f o] ||k

S-HSS-FLAT - M2 x 4

S-SHCS - 832 UNC X 1.5

rafra| sfra| = | sfrs] == ]=]=

iy
-y =t

S-SBHCS-M4 x 18

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 73 Of 161




Solid Packaging " _ ™
| Robotikinc OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

STATION 1: BASE
BASE
Function: The carousel turns in cycles to transport cones from station to station.

PARTS LIST

=
o
3

PART NUMBER
CAELEDDDO7E
CAELEDDDOST
CAELEDDD118
CAELEDDD148
CAPRTOOT117
CASSYDO0O11
CAS5Y000028
CASSY000033
CASSY0D00045
CASSYDD0048
CASSYD00085
CASSY0D0007S
CASSY000077
CASSYD000as
CASS5Y000030
CASSYDO0101
CASSYDOO11S
CAS5YD00334
PAELEOOOOT4
PASSYO00002
PASSYO00056
PASSYO00058
S-BHCS - M5 x 12
S-BHCS - M x 10
S-FHCS - MExig
S-SHCS - M4 x 25
S-SHCS - M x 12
S-SHCS - M x 25
S-SHCS - Wi x 30
S-SHCS - M3 x 20
SW-FLAT WASHER - M4
SW-FLAT WASHER - ME
SW-FLAT WASHER - M&
SW-FLAT WASHER - M2
SW-SPLIT LOCK WASHER - M4
SW-SPLIT LOCK WASHER - M6
SW-SPLIT LOCK WASHER - MB

|| i | | 0] o[ | = | ]

e[| ] B3] & 5 | = rof o] o] = [= [ = [ =[ === = [=|=[ 2| = =|=| <<~

-
=

w2 e [ 12

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 74 Of 161




Solid Packaging , _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

GUARD

DETAIL C
SCALE 1:5

DETAIL D
SCALE 1:12

EE

DETAIL B
SCALE 15
DETAIL &
SCALE 15
PARTS LIST
ITEM aTy PART NUMEER
1 1 CAELEQDDD4T
2 26 CAMECDDO174
3 7 CAMECDOOSES
4 32 CAMECDO0EZ3
5 13 CAMECDO0G24
& 17 CAMECD00825
T 4 CAMECDDO72E
B 2 CAMECDOO7T42
8 2 CAMECDOO744
10 2 CAMECDOO745
11 4 CAMECD00308
12 2 CAMECD0a307
12 1 CAPRTDODOT2
14 4 CAPRTDOO8ED
15 1 CAPRTDDO3E1
18 8 CAPRTOD1024
17 2 CAPRTOD0EY
18 4 CAPRTDD1028
18 1 CAPRTDOD1102
20 1 CAPRTDD2347
21 2 CAPRTDD2378
2 1 CAPRTDD2564
P} 12 CAPRTDOD2574
24 1 CAZSYDOO3T0
25 8 PAMECDO0224
28 12 PAMECDOD229
P 12 S-BHCS - B-32 UNC - UNC X 0.75
28 12 SEBHCS -MSx8
28 12 S-BHCS -MEx12
30 14 S5-BHCS - M& x 20
3 13 SN-NYLON LOCK NUT - M2
32 24 S-SHCS -M4x8
33 2 S-SHCS - Mé x 20
el 24 S-5HCS - M& x 30
35 32 S-SHCS -ME x 18
k) 45 SW-FLAT WASHER - MB
an 32 SW-SPLIT LOCK WASHER - Mg
REVISION 0 CONFIDENTIAL INFORMATION PAG E 75 Of 161
PROPERTY OF SOLID PACKAGING ROBOTIK INC




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

TURN TABLE AND CROWN

DETAIL A
SCALE 1:8
DETAIL B
SCALE 1:8 PARTS LIST
ITEM ary PART NUMBER
1 1 CAELEODOO48
2 2 CAMEC000030
3 1 CAMEC000055
4 1 CAMECO000138
5 1 CAMEC000140
[:] 1 CAMEC000177
7 1 CAMEC000280
] 1 CAPNEODO104
9 1 CAPNEQ0O140
10 1 CAPNEODO183
11 1 CAPNEODO184
12 1 CAPRT000002
13 1 CAPRTO00004
14 1 CAPRT000005
15 4 CAPRT000007
16 1 CAPRT000325
17 1 CAPRT000326
18 1 CAPRT000327
19 1 CAPRT000328
20 1 CAPRTO000331
21 1 CAPRT000332
22 1 CAPRT000642
23 1 CAPRT000843
24 4 CAPRTO001856
25 1 CAPRT002442
26 1 S-FHCS - M8x20
27 8 5-FHCS - M6x25
28 4 S-FHCS - M10x35
20 1 S-HSS-FLAT - M4 x 10
30 2 S5-SHCS - M3 x 20
31 2 5-SHCS-M4 x 8
3z 4 S-SHCS - M4 x 16
33 4 S-SHCS-M5x8
34 4 S5-SHCS - M6 x 12
35 2 S5-SHCS - M6 x 16
36 8 S5-SHCS - M6 x 20
37 4 S5-SHCS - M6 x 25
38 4 5-SHCS - M6 x 30
39 4 S5-SHCS - M10 x 30
40 2 SW-FLAT WASHER - M4
41 8 SW-FLAT WASHER - M6&
42 2 SW-SPLIT LOCK WASHER - M4
43 -] SW-SPLIT LOCK WASHER - M6

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 76 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

SHAKER

@ DRIVE SERVO

@ ASSORTMENT OF PLUG

@O M E & G ®

PARTS LIST

PART NUMEBER

CAELEDDONEZ

CAELEDDODS

CAELEDDOOES

CAELEDDODSS

CAMECDODST

CAMECDODSE

CAMEECDO0200

CAFRTOOO0TI0

CAFRTIONTIZ

CAPRTIONTII

CAFRTIONTIE

CAFPRTOOOTIT

CAFRTIO0T38

CAPRTIONTIS

CAFRTIOOTAY

CAFRTIONTSE

CAFRTIONTES

CASEY000353

FAMECODOSET

B-FHCE - Maxi2

B-BHCE - M x 12

) 11 3 Y 1 Y P A

B-EHC3 - M X 20

B-BHCI-MSx 16

B-BHC2-MEx 10

Ll

BW-FLAT WASHER - M2

m

BW-BFLIT LCCK WASHER - M2

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 77 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

FRAME CORNER RIGHT E-STOP

PARTS LIST

QTY

PART NUMBER

CAPRT001952

CAPRT001953

CAPRT001954

S-BHCS - M5x 10

SN-HEX NUT - M5

SN-NYLON LOCK NUT - M5

S-SHCS - M4 x 12

S-SHCS-M5x 10

SW-FLAT WASHER - M4

3oaaslam&wm-§

SW-FLAT WASHER - M5

SW-SPUT LOCK WASHER - M4

S

o B Bl B Bl B B e B B e B B

CAELEQ00078

@

CAELEC00171

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 78 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

FRAME CORNER BETWEEN PLATES

PARTS LIST

ITEM

oTY

PART NUMBER

CAPRT0010853

PAPRTOQ00004

S-BHCS - M5 x 10

SN-HEX NUT - M5

o fwlm

S S N Y

SW-FLAT WASHER - M5

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 79 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

BASE STRUCTURE

(12)

PARTS LIST

Qry PART NUMBER

1 CAELE000048

>

CAELE000049

CAELE000176

CAELE000177

CAMEC000651

CAPNE000062

CAPNE00008S

CAPNE0000S4

CAPNE000100

CAPNE000101

o G 8 e N N S = )

CAPNE000102

w
o

CAPNE000132

CAPNE000133

CAPNE000187

CAPNE000188

CAPNE000204

CAPNE000217

CAPRT000001

CAPRT000285

CAPRT000628

CAPRT001146

CAPRT001891

PAMEC000006

n|alelalala]a]a|afofo|ls

PASSY000059

-
S

S-BHCS - MS x 10

S-BHCS - M5 x 20

S-FHCS - M6x25

N
o|a|@

S-HCS-F - M10 x 30

>

SN-HEX NUT - M10

S-SHCS - M4 x 10

S-SHCS - M4 x 20

S-SHCS - M6 x 20

SW-FLAT WASHER - M4

E KT B 5]

SW-FLAT WASHER - M6

-
@

SW-FLAT WASHER - M10

SW-SPLIT LOCK WASHER - M4

alw

SW-SPLIT LOCK WASHER - Mé

&>

SW-SPLIT LOCK WASHER - M10

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 80 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

CONTROL PANEL

()
(10
()

@E © ®

PARTS LIST

<
m
=
o]
—'
<

PART NUMBER

CAMEC000623

CAPRT000396

CAPRT000569

CAPRT001796

CAPRT001897

PAELEO00017

PAELEQ0D045

PAELEO00047

PAELE000048

PAELE0000S3

PAELE000073

PAMEC00016S

PAMECO000170

S-BHCS - M6 x 12

S-BHCS - M8 x 16

S-HSS-FLAT -M8x 12

S-SHCS - M6 x 12

S-SHCS - M6 x 30

slalalp|alalalalalalp]|alalalv]|alalals

S-SHCS - M8 x 12

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 81 of 161




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L____Robotik inc
FRAME DOOR
PARTS LIST
ITEM QTy PART NUMBER

1 4 ANSIB18.34M -M8 x 1 x 12, FHSBHCSM

2 1 CAPRTO000587

3 2 PAMEC000048

4 2 PAMEC000048

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 82 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

PNEUMATIC PANEL

/Y

00
(2

g
&

890000090

NG

oWy

f ()

PARTS LIST

ITEM

[=]

PART NUMBER

CAELEQ00052

CAMEC000148

CAMECO000151

CAMECO000174

CAMEC000682

CAPNE000032

@it w|r

CAPNE0Q00G4

CAPNEQO00®7

CAPNE0O0028

CAPNE0O0022

CAPRT000388

12

CAPRT000305

13

CAPRT000585

14

CAPRT000592

15

CAPRT000505

16

PAMECO000187

«bb——---—--n-—---o-—-bj

SN-HEX NUT - Mé

18

-
(=]

S-SHCS - M8 x 10

10

S-SHCS -M8 x 12

Bl

S-SHCS -M8 x40

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 83 of 161




Solid Packaging " _ ™
| Robotikinc OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

LEFT SERVICE DOOR FRAME

B &0 © 686 ©

PARTS LIST

ITEM

[}

w-bwww-u-a-------wz

PART NUMBER
CAELED00057
CAELED00128
CAPNEQD0045
CAPNEQ00046
CAPNE000051
CAPNEQ00052
CAPNE000020
CAPNE000208
CAPRTO000828
CAPRT001853
PAMEC000225
S-BHCS -M5x 10
SN-HEX NUT - M5
S-SHCS -M5x 10
SW-FLAT WASHER - M5
SW-SPLIT LOCK WASHER - M5

oo |~|om|on | fwfr

[=]

(X}

oo

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 84 Of 161




Solid Packaging " _ ™
| Robotikinc OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

ELECTRIC DUCT

PARTS LIST

PART NUMBER
CAPRT000675
CAPRT000676A
CAPRT000678A
CAPRT000680
CAPRT000684
CAPRTO00688A
CAPRT000690
CAPRT001993
S-BHCS - M5 x 8
S-BHCS - M5 x 10
S-HCS-F - M5 x 10
SN-NYLON LOCK NUT - M5
SW-FLAT WASHER - M5

=
m
=
o
=

] ek | |t s || ] NS

N
w

=
o
-
o

-
=y
N

s
N
-
N

-
w
-
N

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 85 Of 161




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L____Robotik inc
HUB PIN LINEAR GUIDE
PARTS LIST
ITEM QTy PART NUMBER
1 1 CAMEC000380
2 1 CAMEC000381
3 1 CAPRT000302
4 1 CAPRT000304
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 86 Of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

CONE PUSHER CYLINDER

00

ONOCIONONONONONO

PARTS LIST

ITEM PART NUMEER

CAMECOD00140

CAMECO000609

CAMECOD00769

CAPNEDDOO13

CAPNEDDOO16

CAPNEDDOOGS

CAPRTOD0305

o || || fea|ra

CAPRTON306

CAPRTOO0308

10 CAPRTO0N310

1 CAPRTO00311

12 CAPRTOO0418

13 SM-HEX NUT - M8

14 5-5HCS -M5x 25

15 5-5HCS - M6 x 20

18 SW-FLAT WASHER - M3

17
18

SW-FLAT WASHER - M3
SW-SPLIT LOCK WASHER - M8

@
cn-boaoa-r-..-.n-———............_.g

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 87 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

TABLE RISER

DETAL B
SCALE 14

DETAIL &
SCALE 1:4

PARTS LIST

aTy PART NUMEER

CAMECOO00TE

CAMECO0007E

CAMECOO00BD

CAMECO00081

CAMECO00150

CAMECO00156

CAMECOD001ED

CAMECOD0Z24

[ | | ] | s [ o] < |
=

CAPRTOODO23

CAPRTOOD044

CAPRTOO0045

CAPRTOOD04E

CAPRTOOD047

CAPRTOOMEG

CAPRTOOD45E

CAPRTOOMEZ

CAPRTOOMES

CAPRTOOMTT

CAPRTOODEDE

S-BHCS -M4 x &

S-FHCS - Max20

S-HISSFLAT-MSx 16

SN-HEX NUT - M10

S-GHCS -M4 =20

S-GHCS -MS5x 45

S-SHCS -MGx25

(=] 253 Y Y Y Y - Y JEY Y Y S 3
coff) o oo |l ra e [ 22 s Y EaE || oo &>

S-5HCS -M1Dx 35

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 88 of 161




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 2: CONE DISTRIBUTION

CONE DISTRIBUTION
() @O E@E 6 @ EE)

()
(=2
@
O
O
@)

Sy @)

y@

(32)

/ D

o 2

(70)

WO

A @)

REVISION 0 CONFIDENTIAL INFORMATION PAGE 89 of 161

PROPERTY OF SOLID PACKAGING ROBOTIK INC




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

DETAIL E
SCALE 23

(EXe) e (2) (e &)

DETAIL B
SCALE 2:3

@ AUTO SWITCH
PLASTIC RULER

DETALL A
SCALE 13 PROXIMITY SENSOR
DETAIL D
SCALE 23
PARTS LIST PARTS LIST
ITEM ary FART NUMBER ITEM aTY FART NUMBER
1 1 CAELEDDD154 &7 1 CAPRTOOD1457
2 1 CAELEDOD{150 48 1 CAPRTOO1488
3 2 CAMECDODDE £3 1 CAPRTOO14TZ
& 2 CAMECDODONT 50 1 CAPRTDOZZ3Z
5 2 CAMECDODDSE &1 1 CAPRTOOZZ3Z
& 2 CAMECDODDSS 82 1 CAPRTOOZZS
T 2 CAMECDODOED 53 1 CAPRTDOZZSS
B 1 CAMECDOO133 =3 1 CAPRTOOCZSS
E] 2 CAMECDOO154 85 1 CAPRTOOZ34S
10 2 CAMECDDOD4548 56 1 CAPRTOOZ3ST
11 2 CAMECDODEEE &7 1 CAPRTOOZ4ES
12 2 CAMECDOOTD2 &8 1 CAPRTOOZSEZ
13 1 CAMECDDOT1S 53 4 CAPRTDOZE2S
14 1 CAMECDOOT2D &0 1 CAZEYDOODES
15 1 CAMECDOOT2E &1 2 E-BHCE-M3x 8
16 1 CAMECDDOT2E 62 2 BBHCB-MaYE
7 1 CAMECDOOTE3 63 2 B-FHCS -B-32 UNC X 0.5
18 1 CAMECDOOTES 3 2 E-FHCE - M3x10
13 1 CAMECDDOTSS &5 2 B-FHCE -M3x12
20 1 CAMECDDDE23 &5 4 B-FHCS - MSx12
21 1 CAMECDODESS &7 2 E-FHCE - MEx2S
2 2 CAMECDDDESE &8 2 BHC3-F-Max8
23 2 CAPNEDDDDOZ2 &3 1 S-HH3-P- M4 x 35
24 2 CAFMNEDDDO132 T 1 EN-HEX NUT - M3
25 2 CAPNEDDDO1T EA 2 B-8BHCS - 5-32 UNC X 0437
26 2 CAPNEDDDD1B 72 4 SBHCB-M25¥6
rr g 1 CAFMNEDDDO2Y T3 4 B-BHCE - Sx20
28 1 CAPNEDDDDSS T4 2 B-BHCB-M3x8
23 2 CAPNEDDDDSE 6 2 S-BHCB-ME ¥ 12
30 2 CAFMEDDDOSE 7 2 E-EHCE-MLXx 18
31 2 | cAPNEDDODTT i 1 |ceHca-Mixz
32 2 CAPNEDDDDS 79 & S-BHCB-ME ¥ 35
i 1 CAFMEDDO1BE B0 3 E-BHCE-MS5x 12
34 1 CAFMNEDDO190 8 2 E-BHCE-MSx 20
35 1 CAPRTODOOOOS a2 2 S5-8BHCB-M5¥ 30
3% 1 CAPRTOOOO1Z 83 4 EW-FLAT WAZHER - M2.5
En 1 CAPRTOOOSOE 53 4 EW-FLAT WAZHER - M3
38 1 CAPRTDOO411 85 4 BWN-FLAT WASHER - M4
ki) 1 CAPRTOOOSZE -1 2 EW-FLAT WAZHER - ME
0 1 CAPRTOOOSES 87 4 EW-SPLUIT LOCK WASHER - M2 5
&1 1 CAPRTOO11Z7 85 2 BW-GPUT LOCK WASHER - M3
a2 1 CAPRTOO1450 1] 2 EW-SPLIT LOCK WAZHER - M4
43 1 CAPRTOO1481 184 2 E-BHCE-M3x 10
Ty 1 CAPRTODO1452
a5 1 CAPRTOO1453
5 1 CAPRTOO1484
CONFIDENTIAL INFORMATION
REVISION 0 PAGE 90 of 161

PROPERTY OF SOLID PACKAGING ROBOTIK INC




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

ROBOTIC ASSEMBLY

PARTS LIST

=

PART NUMBER

CAELEDDD150

CAELEDD0163

CASSYD00042

CASSY000079

CASSY000080

CASSYD00086

<o || o] ] ro| |l

SBHCS-MEx8

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 91 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

PICK AND PLACE ROBOT

PARTS LIST

amy PART NUMBER

1 CASSYDO0EES

1 CASSYDO0556

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 92 of 161




Solid Packaging " _ ™
| Robotikinc OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

PICK & PLACE LEFT SUPPORT

[

PARTS LIST
TEM aTy PART NUMBER
2 1 CAPRTD00522
3 1 CAPRT000835
1 1 CAPRT000626
5 1 CAPRT001521
7 2 S-SHCS - M5 x 10
g 4 SSHCS -MEx 16
10 4 SW-SPLIT LOCK WASHER - M8
2 4 SW-FLAT WASHER - M8
6 H [PAELEDCODT4
1 2 |caELEDOO 184
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 93 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

PICK & PLACE RIGHT SUPPORT

PARTS LIST

aTty PART NUMBER

-

CAMECO000781

CAMECO00829

CAMEC000894

CAPNEO0QO105

CAPNEOQQO140

CAPNEQO0O184

CAPRTO00532

CAPRT000637

CAPRT000838

PAELEOODO74

S-SHCS - M4 x 10

S5-SHCS - M8 x 10

SW-FLAT WASHER - M4

plplaln|alala|la|la]alrno]=]=

SW-SPLIT LOCK WASHER - M4

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 94 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

PICK & PLACE CONE TRAY

17

3
=i\

18 )22 )24 »

14
Y 4
9
19
PARTS LIST
ITEM QTy PART NUMBER

5 2 CAPRTO00339

6 2 CAPRTO000360

2 2 CAMEC000125

7 2 CAPRTO00S48

8 1 CAPRTO00S49

9 2 CAPRTO00SSS

10 2 CAPRTO00S58

1 1 CAPRTO00S59

12 1 CAPRTO00S60
20 4 S-SHCS - M6 x 40

19 4 S-SHCS - M6 x 25

16 [ S-FHCS - MEX16

17 12 S-SHCS -M5x 20
21 10 SW-FLAT WASHER - M5

15 20 S-BHCS -M5x 8

12 1 CAPRTO01793

1 2 CAELEDODO139

14 2 CAPRTO01959

3 1 CAMECCQ0136
23 10 SW-SPLIT LOCK WASHER - M5
18 8 S-SHCS -M& x 20
24 8 SW-SPLIT LOCK WASHER - M6
22 8 SW-FLAT WASHER - M6

4 2 CAMECO000674

REVISION 0 CONFIDENTIAL INFORMATION PAGE 95 of 161

PROPERTY OF SOLID PACKAGING ROBOTIK INC




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 3: CONE OPENER

OROIO

OROXORORONO

PARTS LIST

a
=

ary PART NUMEER

CAELEDOOOST

CAMECDO0D14

CAMECD0001T

CAPNEDDODIT

CAPNEDDO104

CAPNEDDO105

CAPRTDOOOT1

BRI EIEIE e

CAPRTDO0OT2

CAPRTDO0OT3

CAPRTDO0224

PAMECDOD0E1

S-FHCS - M4x20

5-SHCS - M4 x 20

1
1
1
1
1
1
1
1
1
1
1
2
1
4

S-SHCS-ME x 16

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 96 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 4: DOSING

FIXON
TABLE

FIX ON LEVER TABLE

FIX ON TURNTABLE

PARTS LIST

CASSYD00001

CASSYD00114

CASSYDOM0E2

CASSYDO320

u-r-r\:w..ﬂ
=

QY PART NUMEER
1
1
1
1
1

CASSYD00426

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 97 of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

DOSING GATE

PARTS LIST

ITEM any FPART NUMEER

1 2 CAMECDOOMSS

CAMECDODEES

CAMECDODSES

CAMECDODE42

CAMECDOOTI0

CAPNEDDDO29

sif e | [ e

CAPNEDDDDSS

a8 2 CAFNEDDDDST

£l 2 CAFNEDDD105

CAFRTO004E4

CAPRTOOOMES

CAPRTODM S04

CAPRTODM 205

CAPRTO0 237

CAPRTOO 252

B-FHCE - M2x8

4
JRY P (Y ) O R R

EN-NYLON LOCK NUT - MS

18 2 E-BHC2-M4 X 16

15 2 S-BHC3-M5x 10

20 2 DW-FLAT WASHER - M4

DW-FLAT WASHER - MS

EW-SPUT LOCK WASHER - M4

EW-SPUT LOCK WAZBHER - MS

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 98 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

FEEDING FUNNEL

PARTS LIST

aTy PART HUMBER

CAMECD00003

CAMECD00140

CAMECDD0233

w|=|=] e

CAMECDDDB21

CAPNEDDO212

CAPRTOO004

CAPRTOOOZES

CAPRTOON3TT

CAPRTOONITE

CAPRTOONETS

CAPRTOOMTIS

B-BHCE -M2x 12

Y I S

B-FHCE - MEx20

1 S-HCaF-MmsyB

4 BEN-HEX HUT - M4

B-ZHCE -Md xE

1 S-BHCE-MSxB

3-BHCE - MS x 16

BWN-FLAT WAZHER - M2

SW-FLAT WASHER - M5

SW-EFUIT LOCK WASHER - M4

e [ o]

BW-EFLIT LOCK WAZHER - MS

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 99 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

FEEDING STATION

DETAIL A
SCALE 1:2

PARTS LIST PARTS LIST

ITEM aTy PART NUMBER ITEM ary PART NUMBER
1 1 CAELEDODDD3 a1 1 CAPRTDO1889
2 1 CAELEDDDD23 a2 1 CASSYD0D258
3 1 CAELEDDDD47 43 10 S-BHCS -M3 x6
4 1 CAELEDDDD53 44 3 5-FHCS - M5x10
8 1 CAELEDDDDST 45 4 5-FHCS - M5x20
B 1 CAELEDDDDE1 48 2 5-HCS-F - M5 x 18
7 3 CAELEDDDDE 47 4 5-HCS-F - M5 x 20
B 1 CAELEDDDDE3 48 3 SH-HEX NUT - M8
a 1 CAELE000108 42 4 5-SHCS -M3 x 12
10 2 CAELE000103 50 4 5-SHCS -M3 x25
11 3 CAELE000110 51 8 5-SHCS -M5x8
12 2 CAMEC0DD0155 52 4 5-SHCS - M5 x 16
13 3 CAMEC00D0238 53 4 5-SHCS - M5 x 20
14 1 CAMEC0D0592 54 2 5-SHCS - Md x 10
15 1 CAMEC0D0593 55 1 5-SHCS - Md x 16
18 1 CAMECDDDG41 56 4 5-SHCS - Ma x 30
17 2 CAPNEDOOO21 57 4 SW-FLAT WASHER - M3
18 1 CAPNEDOOOZT 58 4 SW-SPLIT LOCK WASHER - M3
12 4 CAPNEDOOD42
20 4 CAPNEDOOOE4
21 2 CAPNEDOOOT2
22 g CAPNEDOOOTT
23 2 CAPNEDOOOTS
24 2 CAPNEDOD185
25 2 CAPRTO00370
28 2 CAPRTO00371
i 4 CAPRTO0D373
28 2 CAPRTO0D374
20 2 CAPRTO0D375
30 1 CAPRTO0D3E0
H i CAPRTD0D324
32 1 CAPRTO00700
33 1 CAPRTOO007O1
34 1 CAPRTO00702
35 1 CAPRTO0D061
38 2 CAPRTO0D0G3
37 1 CAPRTO01835
38 1 CAPRTO0 1065
32 1 CAPRTO01080
40 1 CAPRT001003

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 100 of 161




Solid Packaging " _ ™
| Robotikinc OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

NEEDLE

O @ @

|

—

=

© @

PARTS LIST

ITEM aTy PART NUMBER

‘CAELEDDOOCR

CAELEDDOO 10

CAELEDDOO1E

‘CAELEDDOO2O

‘CAELEDDOO47

‘CAELEDDOOSR

CAMECOO0O152

CAMECD008ET

CAPRTDDOS3E

CAPRTDDOSTE

CAPRTOD1447

CAPRTDD 1448

S-FHCS - M3xB

S-SHCS -M4 x 12

S-5HCS -MSx 18

S-5HCS - M5 = 20

S-5HCS -ME = 18

-
=
[P [ I - (R P Y Y Y Y PR I (Y Y Y ) P

SW-SPLIT LOCK WASHER - M4

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 101 Of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

FEEDING SYSTEM

AN\ srre7e

%)

LAY
o R

T

{
|
|

sl d Logpees

®)

® ® ? ®EEO®E
®)

® 00 ®

DETAIL A
SCALE 15
PARTS LIST PARTS LIST
ITEM aTy FART NUMEER ITEM aTy PART MUMBER

1 1 CAELEDODOSS 41 1 FAMECDOO3ZS

2 2 CAELEDOOOSA 4z 2 S8HCE-MSx 12

3 1 CAELEDOOA 36 43 1 3-8HCE - M x 10

4 1 CAELEDODMSE 44 4 B-FHCE - MAZS

s 2 CAELEDOOASO a4z 4 BFHCE - M58

3 2 CAELEDDOASS 45 1 B-FHCS - MEK12

T 1 CAELEDOD2T2 47 L] B-FHCE - MEXZD

L] 2 CAMECO00156 4z 1 BFHCES - MBK2S

9 2 CAMECO00196 43 4 SHESE-FLAT-MEX 6

10 1 CAMECO0021 Bl 2 B-BHCE-M2x 28

1" 1 CAMECOO0L22 B3l 2 S-8HCE-MSx 16

12 2 CAMECOO0L2L 5 2 S-BHCE-MS x2S

13 1 CAMECO00LZS 53 10 B-BHCE - MS x 20

14 3 CAMECOO0L26 Bl 4 S-8HCE-ME x2S

15 1 CAMECO00503 55 10 3-BHCE - MS x 30

18 1 CAMECIO0S16 55 4 B-BHCE-MEx 35

7 3 CAMECIO0S1T T z BW-FLAT WASHER - M
12 2 CAMECOO0551 58 1 SW-FLAT WASHER - MS
12 2 CAMECDOO0S58 Bl 2 BW-BFLIT LOCK WASHER - M5
0 1 CAFRTOOITOE ] 21 BW-BFLIT LOCK WASHER - MS
21 1 CAFPRTOON 709
= 2 CAFRTOOITID
pc ] 1 CAFRTOOITIZ
4 1 CAPRTOO 791
= 1 CAFRTOOI 7SS
x 1 CAFRTOO1 B0
Fid 1 CAFRTOOMBO2
= 1 CAFRTOO1E14
=] 1 CAFRTOO1E3E

0 1 CAFPRTODO1E38

3 1 CAPRTOOM1B3S

iz 3 CAFRTOO1E40

3 2 CAPRTOMETT

34 1 CAFPRTOO1 881

= 1 CAFRTOO1S24

k-3 2 CAFPRTOO156E

7 1 CAFPRTOO2307

= 1 CABZYDOO0ES

k-] 1 CA33YD00323
40 1 CA3SYD00345

REVISION 0 CONFIDENTIAL INFORMATION PAGE 102 Of 161

PROPERTY OF SOLID PACKAGING ROBOTIK INC




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

Ve

TUMBLER

PARTS LIST

ITEM hd FART NUMBER

CAMECDD0L51

CAMECDDDS33

CAMECDDDSIE

CAFRTION 700

CAPRTOO TOS

CAFRTOOE0E

i fon | f i

CAFRTOOEDS

CAPRTDO 853-A

CAPRTOO 8538

10 CAPRTDO 525

11 CAFRTOOIZ340

B-FHCE - M4x25

13 EN-NYLON LOCK NUT - &

14 B-BHCS -Me X 16

[ 10 R Y S S O Y O N O O O

15 B-BHCS - MS ¥ 35

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 103 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

HOPPER POST

PARTS LIST

ITEM|QTY

PART NUMBER

CAELE000081

CAMEC000142

CAMEC000147

CAPRT000552

CAPRT0005768

CAPRT000577

CAPRT000578

CAPRT000579

CAPRT000580

CAPRT000581

plalalalafo]|a]a]|a]=l=|=

CAPRT001814

PAMEC000124

w
@

S-FHCS - M5x10

S-SHCS - M6 x 12

S-SHCS - M8 x 16

S-SHCS - M8 x 25

S-SHCS - M6 x 30

SW-FLAT WASHER - M6

~
sin|s|slelwl-

SW-FLAT WASHER - M8

SW-SPLIT LOCK WASHER - M6

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 104 of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

STATION 5: COMPACTION

® @)
HEHE®EEQE @

@@EOE® @

DETAILL A ASSEMBLY STEPS DETAIL

PARTS LIST

ITEM ary PART HUMBER

CAELEQDOD4T

CAELEQDODST

CAELEDDO118

CAELEDDD136

CAELEDDD152

CAELEDDD187

CAMECOQIDB3

o = | [ G| | -

CAMECOD0168

L-]

CAMECO0485

=1

CAMECO00636

CAPMEDDOOT

=]

CAPNEDDOO1E

3

CAPMEDDOOS4

=

CAPNEDDOOG4

o

CAPMEDDOOGS

@

CAPMNEDDOOET

]

CAPMEDDOOGS

w

CAPNEDDOOTD

=

CAPMEDDOO?T

r
=]

CAPMEDDO187

ra

CAPRTOO0230

P
&)

CAPRTO00221

=
1)

CAPRTO00232

ra
K

CAPRTO00233

=)
&

CAPRTOOO213

=
|

CAPRTOO0MT2

=)
]

CAPRTOOD4TS

=
o

CAPRTOOD407

CAPRTO00564

w
=]

CAPRTO00720

w

CAPRTOO1264

=
(5]

CAZSYO0006E

%)
[~

S-BHCS - MB x 16

b4

S-FHCS - 8-32 UNC X 0.5

w
)

5-FHCS - M3x18

[
a

S-FHCS - M4xB

%
“

S-FHCS - Max18

[
[

S-SHCS - 8-32 UNC X 0.375

%)
=)

S-5HCS -M3x 10

e
=

S-SHCS - M3 x 20

-

S-5HCS-M4 x 8

b
=]

S-SHCS - ME = 16

e
o

S5-5HCS - MB = 20

i+

SW-FLAT WASHER - M2

b
o

SW-FLAT WASHER - Md

o
@

SW-SPLIT LOCK WASHER - M3
SW-SPLIT LOCK WASHER - M3

(=
1)
i | [ [ | b | | 1 e | ma |ra i fom | o | ra [ | = | e | || [ | | | [ e[| o fra | [ | [ [ | = | || = [ | | | [ | | = | e [ =

-
=

REVISION 0 CONFIDENTIAL INFORMATION PAGE 105 Of 161

PROPERTY OF SOLID PACKAGING ROBOTIK INC




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

STATION 6: TWIST

@
)
@
©
()
©
®
©
©
O

PARTS LIST PARTS LIST
ITEM QTY PART NUMEER ITEM QTy PART NUMEER
1 1 CAELEDDOOST 28 1 CAPRTO0E76
2 i CAELEDDOOGY 20 1 CAPRTOO01E78
3 1 CAELEDDOO7 30 1 CASSYD000&2
4 1 CAELEDDO272 Ell 2 CASSYD00428
3 2z CAMECODD140 3z 2 S-BHCS -M4 x 8
] 14 CAMECODD128 3 2 S-FHCS -8-22UNC X 0.5
T 1 CAMECODD2 14 4 2 S-FHCS - M3x12
] 2 CAMECODDE44 L 2 S-FHCS - M3x16
2 1 CAMECODDE25 36 4 S-FHCS - Max12
10 4 CAPNEDDDO17 a 4 S-FHCS - MEx2D
11 2z CAPNEDDDO18 38 1 S-HCS-F - M4 x 35
12 2z CAPNEDDDD22 3@ 2 SH-HEX NUT - M4
13 1 CAPNEDDDDIE 40 2 S-SHCS - B-32 UNC X 0.375
14 1 CAPNEDDDOSS 41 4 S-SHCS-M25x 16
15 2 CAPNEDDDOEE 42 B 5-SHCS - M25x 12
18 2z CAPNEDDDOTF 43 4 S-SHCS - M25x 168
17 3 CAPNEDDD1D5 4 1 S5-SHCS - M4 x 12
13 1 CAPNEDDIZZT 45 4 S-SHCS - M4 x 18
19 1 CAPRTODO240 46 1 S-SHCS - M4 x 25
20 1 CAPRTODO262 47 2 S-SHCS - ME x 25
Al 1 CAPRTOD0323 48 4 S-SHCS -ME x 18
pr] 1 CAPRTODO347 40 2 S-SHCS - M& x 20
23 1 CAPRTODO382 50 2 5-SHCS - M8 x 25
24 1 CAPRTDOD431 51 2 SW-FLAT WASHER - M5
25 1 CAPRTOD0432 52 2 SW-FLAT WASHER - M6
24 4 CAPRTODO70 53 2 SW-SPLIT LOCK WASHER - M5
27 1 CAPRTODO7O04 54 2 SW-SPLIT LOCK WASHER - ME

REVISION 0 CONFIDENTIAL INFORMATION PAGE 106 Of 161

PROPERTY OF SOLID PACKAGING ROBOTIK INC




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 7: CUTTING AND FLATTENING

() @) @6 &9

PARTS LIST PARTS LIST
ITEM anr PART NUMBER ITEM ary PART NUMEER
1 1 CAELEDOD1E1 a7 1 CAPRTOD2485
2 1 CAELEDO01E2 28 1 CASEYDD006E
3 4 CAMECD0007E8 20 1 CASSYDD0228
4 2 CAMECDO0140 30 2 S-BHCS-M5x 18
5 2z CAMECDO0154 3 2 5-FHCS - 8-32 UNC X 0.5
(] 4 CAPNEDRODDI7 32 a8 5-FHCS - Max10
7 2 CAPNEDDDD18 33 1 S-HHS-P - M& x 30
2 1 CAPNEDODDS4 M 1 SN-HEX NUT - M6
2 1 CAFNEDODDES 35 2 5-SHCS - B-32 UNC X D375
0 1 CAPNEDODDES 36 4 S-SHCS-M3x 10
1 1 CAPNEDRODDES a7 2 S-SHCS-M3x 18
12 1 CAPNEDDDDTT 38 2 S-SHCS-M4 x 10
13 1 CAPNEDOD140 30 2 S-SHCS-M4x 18
14 1 CAPNEDOD141 40 2 5-SHCS-M5x 12
15 1 CAPNEDOD142 41 T S5-SHCS-M5x 18
16 1 CAPRTDO04E2 42 2 S-SHCS - M3 = 20
7 1 CAPRTDO0SEZ 43 4 S-SHCS-M5x25
8 1 CAPRTDO0SE2 Lad 4 S-SHCS-MBx 18
] 4 CAFRTDO0SE4 45 4 S-SHCS -Ma x 20
20 1 CAPRTDO12E0 48 ] SW-FLAT WASHER - M3
21 1 CAPRTOO1281 47 2 SW-FLAT WASHER - M4
22 i CAPRTDO12E2 48 13 SW-FLAT WASHER - M5
23 1 CAPRTDO1448 40 L] SW-SPLIT LOCK WASHER - M3
24 1 CAPRTDO1345 50 2 SW-SPLIT LOCK WASHER - M4
25 1 CAPRTDO1 246 51 13 SW-SPLIT LOCK WASHER - M5
26 1 CAPRTODO1E79 52 4 SW-SPLIT LOCK WASHER - MG

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 107 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 9: PRODUCT VALIDATION

EXIT CHUTE

n

PARTS LIST

PART NUMBER

CAPNEDDOD31

CAPNEDQODES

CAPNEDDODGE

CAPNEDIODTE

CAPRTOO0408

CAPRTDO0410

CAPRTDOMG14

S5-BHCS - M4 x 10

mm—qmm-nwm_ﬁ
=

S-FHCS - Mdx12

S-5HCS - M3 x 30

5-5HCS - M5 x 25

.n.a..n.mma—nammm—nq

SW-FLAT WASHER - M2

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 108 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

PICK AND PLACE

HHOEGGEAE®

®  ©OEEE®

DETAIL A
SCALE1:3

PARTS LIST PARTS LIST
ITEM |QTY FPART NUMBER ITEM |QTY FPART NUMEBER
1 2 | CAELEOOO25D £1 1 | CASEYDOD1S1
2 g | cCAMECODODIS £2 2 | 5-FHC3 - MExiE
3 1 | CAMECOODDE3 43 4 | EHCS -5-32 UNC X 0375
4 1 | CAMECODOOST = 2 |G-HESFLAT-M3x 8
5 £ | CAMECODONES 45 2 |E-HES-FLAT-MEx &
1 & | CAMECODOiES &5 1 | EN-HEX NUT - M8
7 4 | CAMECODONES £ § |E-BHC3-MIZx&
8 2 | CAMECODOdBE 43 8 |E-BHC3-Mixi2
tl 2 | CAMECODOMET 435 4 | E-EHCI-MLx 18
10 2 | CAMECODOM88 s0 14 | S-BHCE-M5x 16
11 1 | CAMECOODONES 51 2 |E-BHCE-MSE45
12 2 | CAMECODOMSO 52 2 |E-8HC3-MEx 16
13 2 | CAMECODDEIZ 53 & |E-BHC2-MExID
14 4 | CAPNEDDDO13 52 3 |E-BHC3-MEx IS
15 1 | CAPMEDDDO1E 55 4 | BW-FLAT WAZHER - M4
185 4 | CAFNEDDDO1T 55 2 | BW-FLAT WASHER - MS
17 4 | CAPNEDDDO18 57 11 [ SW-FLAT WASHER - ME
18 2 | CAPNEDDDO22 58 4 | BW-SPUT LOCK WASHER - M4
13 1 | CAP 53 2 | BW-SPUT LOCK WASHER - MS
20 1 | CAPMEDDDOST &0 3 | BW-SFLIT LOCK WASHER - ME
21 1 | CAPMEDDDOSE
22 4 | CAPMEDDDIOS
23 1 | CAPRTOOO34S
24 2 | CAPRTDOO345
25 2 | CAPRTDOO342
25 2 | CAPRTOOO343
1) & | CAPRTOOOZS0
28 & | CAPRTOOOZSZ
29 1 | CAPRTDODSES
30 1 | CAPRTOOOSES
31 1 | CAPRTDOOSTO
2 1 | CAPRTOODSEZ
33 2 | CAPRTDODSET
34 1 | CAPRTOOOSSZ
35 1 | CAPRTDODSS3
35 1 | CAPRTOOOSSS
37 1 | CAPRTDODSST
L 1 | CAPRTOODSSE
33 2 | CAPRTDOOSSS
20 & | CAPRTDOZION

REVISION O

CONFIDENTIAL INFORMATION

PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 109 of 161




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

SCALE

PARTS LIST

g

PART NUMBER

CAELEDDDOO3

CAMECOD0002

CAMECDQDD024

CAMECDQD0262

CAMECDQDO737
CAPRTODD285

CAPRTODD485

CAPRTODD488

w| m [ | e en| | | o =

SEHCS -M2x6

SFHCS - MEx10

JEY Y ] ) R Y Y OV R T g

Zlo

SHSSFLAT-Max 4

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 110 of 161




Solid Packaging " _ ™
[ Dohotiic ine OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII E"

STATION 10: CLEAN TIP AND CONE

PARTS LIST

=

aTy PART MUMBER

CAMECDO038D

CAMECDO08£0

CAPRTDOD322

CAPRTDODEOD

CAPRTDDDG02

CAPRTDODE03

PAMECO0D081

S-FHCS - Mdx 18

U"FHQU‘-&-MN—*I’T"

S-EHCS-M4x35

S-SHCS-MB x 18

bl s | = b | ba] = | =] =] = | = | s

S|a

SW-FLAT WASHER - M&

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 111 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 11: CLEANING BRUSH

=]

@OOEE

PARTS LIST

5
4

QTy PART NUMBER

CAELE000045

CAMECD00056

CAMEC0D00139

CAMECDOD439

CAPNEQ0OD13

CAPNED0OD18

CAPNED00084

@ |~|@|n|&w| s im

CAPNED0D185

CAPNED0OD180

CAPRTO00312

CAPRT000615

CAPRTO00742

CAPRT001387

S-FHCS - M5x16

S-FHCS - M6x25

S-SHCS - MS x 12

S-SHCS - MS x 16

P IS R (S (V') Y (Y DN UG U DU I 0 (X1 ) Y S

S-SHCS - M6 x 20

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 112 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STATION 12: STRAIGHT TUBE FEEDER (OPTIONAL)

PARTS LIST
TEM atr PART NUMEER
1 1 CASEYDOOI72
2 1 CASEYDOO173
3 1 CABEYDOOIT7E

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 113 of 161




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII-Er ™

CASSETTE OPENING ASSEMBLY

o

©
()

@ ® O 6

. & v‘

‘x,

OR

/

\\ \\

FEROO®E®EOE® ® ® O ® ®

=4
;

QJOJOIOONODO,

/

BB ® RO O @ ®

@ OEFE @@@®® @0 @0 @ ®

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 114 of 161




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

B ®E O ® O

OO0

©

0 ®

PARTS LIST PARTS LIST
ITEM ary FART NUMEER IMEM aTy PART NUMEER
1 1 CASLEDOOOSS ar 1 CAPRTOO1054
2 1 CAELEDOOO E 1 CAPRTOOMO65
3 2 CASLEDDO 35 35 1 CAPRTDO10686
4 1 CASLEDOO 35 40 1 CAPRTOO105T
s 1 CAELEDOO139 a1 1 CAPRTOO1058
g 2 CASLEDOON40 42 1 CAPRTDO1053
T 4 CAMECDN0OTE 43 1 CAPRTOO1070
L] 2 CAMECDDD1£0 a2 1 CAPRTDINOTY
L] Z CAMECDDO254 45 1 CAPRTODNOT2
] 2 CAMECDDN2ES 48 1 CAPRTOO1208
1" 2 CAMECDDO256 a7 1 CAPRTOM213
12 1 CAMECDDO25T 48 1 CAPRTOO01587
12 1 CAMECDDN2ES 45 1 CAZIYDODIST
14 2 CAMECDDO28S =0 1 CAZSYDDO138
15 1 CAMECDDDST1 =1 4 S-FHCS - M3x8
18 1 CAMECDDNSDS 52 1 S-H33-FLAT - M3 x 10
17 s CAPNEDOOOSS £3 1 SHIS-FLAT-ML x4
12 2 CAPMEDOOOSS £4 2 SN-HEX NUT -
12 1 CAFMNEDDO0ET 55 2 SP-DOWEL FIN- @5 X 18
m 1 CAFMEDDO 1D £ 4 SP-DOWEL FIN- @5 X 24
21 3 CAPNEDOD 106 &7 2 S-8HC3 -Mmax 10
= 1 CAFMEDDO1Z3 8 2 S-EHCE - M4 x 35
2 1 CAFMNEDDD 124 £8 4 SEHCE-MEx 12
4 1 CAPNEDOO1ZT &0 1 S-8HC3 -MEx 16
= 1 CAFMNEDDD1E1 B1 5 S-EHCE-MEx 20
x 1 CAFMNEDDD12S [ 2 SEHCE-MEx 25
Fid 1 CAPNEDOOZ 3 83 4 S-8HC3 -MEx 30
= 1 CAFRTOOOSTS &4 3 S-EHCE -MS ¥ 45
=] 1 CAFRTOOIDSE BS 2 SEHCE-MEx 10
0 1 CAFPRTOODST BE 2 S-8HC3 -MExX 25
3 1 CAFRTOOOSE (x4 2 S-8HCE -ME x 30
iz 1 CAFRTOOIDSS B8 5 SW-FLAT WAZHER ~ M4
3 1 CAFRTOODED &3 14 SW-FLAT WASHER - M5
4 1 CAFRTOODEY T 2 SW-FLAT WASHER - M
3= 1 CAFRTOOIDEZ 71 4 SW-SPLIT LOCK WAZHER - M4
] 1 CAFRTOOI0ES 72 14 SW-SPLIT LOCK WAZHER - ME

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 115 of 161




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

SLIDER

ORORONONONO

FARTS LIST
FART MUMEER

CAELEQDO15S
CAELEDDIZ72
CAMECDIOO0SE
CAMECOOO0ST
CAMECIDOE0E
£ |caPRToOOSDY
1_|CAPRTOONOSS
8 | 2 |caPRTODOMDEZ
3 | & |caPRTDONZIO
10 | 2 |CAPRTDONZM
11 | 2 [PamEcoonzTy
PAMECODII7S
S-FHCE - MExa0
5-BHCE -MEX 16
5-3HCE - M5 x 30
S-EHCE -MEx 35
5-BHCE - MBx 35
SW-FLAT WASHER - MG
EW-SPLIT LOCK WASHER - ME

3
g
fuaf == |- 5

n
w o o] ]o o] ]

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 116 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

TUBE LOADING ASSEMBLY

PARTS LIST

(5]
gl

FART NUMEER

CAELEDDDM4E

CAPNEDDOD31

CAPNEDDODES

CAPNEDOOOGE

CAPNEDDOOT2

CAPNEDDOOTT

CAPNEDOOY04

CAPNEDOON0S

CAPNEDDOH44

CAPRTDO1199

CAPRTDO1202

CAPRTOO1210

CAPRTDO1211

CAPRTDO1212

SBHCE -MEx &

S-FHCS - Misx2s

SHISFLAT-ME w4

S-EBHCE -MIxE

S-8HCZ -M3x20

S-OHCS - W& ¥ 25

FW-FLAT WAZHER - M4

FW-EPLIT LOCK WASHER - M3

o
b e [ o] e ] [ | | | | = [ ] | e e | ] =

SW-BPLIT LOCK WASHER - M

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 117 of 161




Solid Packaging OWNER’S OPERATION AND MAINTENANCE MANUEL P[‘eRoII- Er™

L____Robotik inc
ELECTRICAL DRAWINGS
prse MAIN
POWER
£ o
2
» ooy
o |
~ |
o
0|
«|
|
o
; -
f 5
i <
-~ :
| . X <
i N Q
E 00410 1010 | ('J S é
: 003101 N 32X
o E-------------------------------------------------------------------------------------(9 8
N &,
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAGE 118 of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

DESCRIPTIOH:

SECONDARY
FOWER
s N
coo <@ o]
o | 88 83 [
1
© é
N~ :
1 YOl / 00AbZ 16420 :
| J
¢ TddNS ¥3Mo i
06320 [|pael & SN ¥amod 2o LSO ;
0 < 3 i
< :
. 7 i
(49 S YORISOASE 0 | EMlaccrcesusesenwiss e S, 1
————| B i
g Alddns ¥3mod @-— :
< :
S = 02420 5
N — 02420 '
. % s s
= ¥ 0L/ 00A 8 sl . — B ¢
e H :
& AddNS ¥3amod Qe i
S .
= :
S :
~ = :
~———— :
YOl / 00A 8P e L q,
_ = :
Addns ¥3mod [%—
() N H
3
_ J
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAGE 119 Of 161




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

STEPPER FESTO (F1)
AXE X

Solid Packaging
L Robotik inc

DIESC RIFTHOM:

8ud (2X) N0-¥8 - AD

LBNENTIISVLELISEWNIE

ﬂ BOLON

HdELS

£Lud {ZX) AO-H8 - N8
oud (ZX) A0/-H8 - 3A

VO
=

Gud (gx) +18 - N8

cud 2X) 8- Md ——

ZEaO Y N = m
— [
LU 2V - HM " el
o * & |8 &
' " [~ P
3 Tz =
N 9 Ud 0% A0FE8 - Hd o s 15 |2
Guid {9X) +8 - AD
yud{ox)g-3A L m w
cud{ox) g-NO
= O
z ud (ax) /v - NS o
Lud{ex)v-HM
Q !
o o
g8 I8
T 0
Op == O =y P=
H 0520 G ud (viX) ZOVLS LOANGEO i 3 I
ghe e H 3IN¥a |
08LL 08LL yud (viX) LOVLS ¥3daLS ol IS

TOZ [ D —

LOGL € ud (viX) 8-015# ‘ O“ .......
[l —
LGGL Zud (ViX)V-O1S# o

A0
0520
0020

PAGE 120 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

AXE Y

STEPPER FESTO (F2)

Solid Packaging
L Robotik inc

8 ud (ZX) A0FH8 -AD

s —d
SrIENDTILEISSrE ﬂ 7 ug ANxv AOFNE - N8
ﬂ BOLON
NEYEEIE] 0 ud (ZX) A0-HE8 - 3A
_ 3 e
_ G ud(zx) +8 - N8
Yuazxg-as
T
guid (2x) 8- %d
Zudleo v-Ne o
—d
L ud{ZX)V - HM ~ | ~
&8 |3
o |z o
guig (ax) AD/-88 - d % e =
N
Guld (gX) +1g - AD
yaaEXI 8 -3A
gud gx)g-No
=
zud{ox) /v - N8
=
Lud X))V - HM
o o
8 8
- t=]
9'G =}
050 Gud (VIX)ZOVLS m W
9% == AvA " M M
0G0 ¥ ud (VLX) LOVLS 2 [
=| |©
W -
LOGL € ud (vLX) 8-OLS# e
[NcA= "
LGGL Zuid {(W1X) v-OLS# .
H
:
A0 -
0520 .
0020 +
A T
11 -
AN sz s R S T T S T S S T A S A T S R I I S N S T S R T R T D S S T T S T TR TN N TS - SR R b b Ao

DIESIRIPTION:

PAGE 121 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

AXE Z

STEPPER FESTO (F3)

Solid Packaging
L Robotik inc

_

I
_ guid (ZX) ADFHB -AD
LU SUTIRIGFAS I5ENNG =
] s £uid (Z3) A0FEB - N8
vﬂ:g\
b o] o uid (Z) ADFEE - 3A
. 53 =
f cud (2 +18-N8
rudgg-ay
£ uid (ZX) 8 -Yd
Zud iz ¥-NO
TUaOv-AM
g R IR 3R
L e =
= |= =
W B Uid (830 ADFEE -%d =il A
g ud (o) +18- AD
pud(9x) /8- 34
guid [0X) B-NO
Zudloon-NE
Lud @) v - HW
(=] (=]
2 B
59
0850 g ud (v10Z2viS R IS
gt m m
050 yud (V1) 10VIS 2| |8
90T o
1ack £ uid (y1X) 8-0L1S#
Voz
[ Z uid (y1 ) v-0LS#
A0
0520
oieco
Z1
11
ot

DIESIRIPTION:

6 8 L 9 G 14 € [ b 0

PAGE 122 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

Solid Packaging
Robotik inc

STEPPER FESTO (F4)

O SBCRPFTIOMN

TURRET

EIGEER"1STE0NE3

BOLON
HdH1S8

93

gud (2X) N0/-H8 - AD

£ud {zx) A0FE8 - N8

v

gud {2X) A0FHE - 3A
G ud (gx) +~g- N8

yud ZX) g-a8

guld ZX)8-%d

Zud(ed v - ND

Lud 22X V- HM

9 ud {ax) A0~ H8 -Hd

gud{ex)+8-A9
=
¥ ud{ox)/a-3A
=
gud{ox)g8-NoO
zud (ax) /v - NG
=
L uid @X) ¥ - HM
gLt TEY o) O
0500 gud (¥LX) ZOVLS LOAN G20
99 > e 3AIEA
0G50 ¥ ud (VLX) LOVLS ¥3dd3ls
90z o= . -,
LaGL £ud{viX)8-0LS¥ ‘ o _ .......
Loz
LGGL 2 ud (VLX) v-OLS# o

=
10490 [Foss

Z uld (6%)
€ uid (8%)
L uld (8%)

00390 [}o555

PAGE 123 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

STEPPER FESTO (F5)
LIP/DOWHN SPIN AND NEEDLE

Solid Packaging
L Robotik inc

r
guid ZX) A0FEE - AD
5 = =
— SR EISEne £ ud {2x) Aord8 - N8
HOLON
s /3 9 ud (2X) A0-H8 -3A ’
w Gud 2X)+18- N8 ens e
vudlzog-as o
cud(exig-xd
TudEXI ¥-NO
L ud (2X) ¥ - HM W] . L~
o |z )
0 Ud (8X) AO-H8 - id o la |2
LN
G ud(ox) +18- AD
v ud{ax)/g -3A
gud{ox)8-NO
=
zud {ox) /v - NG
Lud{axX)v - HM
o o
d g
pry o
99—
0520 G ud (VIX)ZOVLS S>mEoO 215
2 0590 pud (V1X) LO-VLS g L M M
W\dd3Ls g B P
a0z
1951 £ U (VLX) B-OLS# rﬂ ..... 5
702 = 1
LG5L Z ud (VLX) ¥-OLS# '
1
1
A0 |
0520 r
0120 1
¢l T
1 '
NG o e e e e e e e e e o o D e e o e e e e e e e S S R AR AT e RN Ry Oinsamsannannnes

PAGE 124 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

STEPPER FESTO (F&)

ROTARY TUMBLER

~
o828
G882 ]
: §
: &
v fe 8
- ]
a i
: g
: i
: ©
: =
: 4 8 2 @ o
: T N w| «| @98
a 11y £ £l gl § £ &
: 2128 8Egs
E HEEEEE
' L8] el &
E 8 = 2| & ¥ % g
: |sgl® *
5 c| B g vy |
: o
C &
: | & &
. F <
i HEER
: IR
: s| Bl &
e g ¢
¢ P 18
I zuld (&%)
DOd 80 1020 euld (%)
: {]:‘L,OO:ISO 0020 L uld (B%)

<

0

y,
CONFIDENTIAL INFORMATION

REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAGE 125 Of 161




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

TWIST

STEPPER FESTO {F7}

Solid Packaging
L Robotik inc

RNLBZrSVrLTISSING

BOLON
HdA1s

zZuld (83)
euld (6
L uld (8%

9 ud (ax) A0F¥8 - Md

6N
G ud (ax)+19- A9
=
pud {9%) /8- 3A
=
€ud{ox) 8-ND
zud{oX) & - N8
Lud X)W - HW
2 2
o o
= o
PEL =}
o o
0660 Ggud (VIX)ZOVLS P b4
gg m| |m
0580 pud (viX) LOVLS 2 18
407 &>
=11 €ud (vV1X) 8-0LS%
Z0Z =
LGGL Z ud (VLX) v-OLS#

DIESDR PO

PAGE 126 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

Solid Packaging
L Robotik inc

gl |& S 1€ |g
z = h i ) h
3 3 3 3 3 3
N @ — N w -
@ @ =] =]
2 |8 2 |8
PLL =} O VLl =2
050L G ud (VLX) ZOWLS LOANGSE a5 0501 Guid {wLX) ZD-VLS LOANAOL ol lo
s TN 3AA Vi |3 [T v8  en =TT 3ARA Vi |3 | &
0¥l ¥ Ud(ViX) LO-VLS SSEe = b= 05kE  HIMAIAXILONVLS ¥3dd3Ls 2 18
2702 [ - Loz - N <
viest  eudlvixisorsg | [ Sl._._.. . Liggl  eud (viX) 8-oLs# oy .
£0Z L ; £0Z &= O
1651 zud(viX)v-0OLS# 1651 zud (VLX) V-OLS#

ZL NOILYIS

8 NOILVLS 3SN4 NI 110 '
NOILdO ' NOLLdO

AO ; :
0520 : : &
0£20 : ; :

a m |

11 : :
AND ==-=s-=smmemecmromimcoerm et e e L e L e e T L LR L R L L b e L et e R e L EEL L e R RERLEEES ©-omrmmnmeneas

OPFTION STATION 12

DESE RPN

PAGE 127 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

Solid Packaging
Robotik inc

SERVO FESTO
TABLE

Inﬂ'.cv:n-:\u-

@

CIZITISUS T IOF DY WD
HOLON
oMas

M OTEHNOTHIGIOEDINEN

i ——

LN

]

N ud wox) N18
AUl [YOX) NS b

3d ud (¥oX) N8O

| Z Uld (89X) NEOTHM

€ Ud (8aX) &AM o)

PAGE 128 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

| 2 |a
1 4 - - o
] . ~_4 B _ H e — —
S 0BLL 2z Gd (Vix) A0 ud (vex) o 7 ==
00LL A¥c Uid (W6X) i e oy |
ZL g (viX) - ol |lo
T (VIX) | ol 1o
e 3
6ud {vix) n Y1
3 Ok Ud (wiX) w
&= 1t Ga (VI =
S0 B=—Tg5r 2t Ua (Wix)
AD
0520
4
1
AN -omn o m oo e e

REVISION O




PreRoll-Er™

FIOTEHNIOTHIGCIOZIYEIN —

|l 1 L —
(i .

¢

o

WOLOM
OVESs

IS ST TR SV LG

OWNER’S OPERATION AND MAINTENANCE MANUEL

SERVO FESTO
VIBRATOR

Solid Packaging
L Robotik inc

=

u
Aud moxw NE8 e

| M Ui (YOX) »18
3d Ud (VaX) NES

Z Uid (80X) NES/HM
€ Ud (80X) NB/HM

gE <> A0UIG WeX)

ut,
owwﬂ N:N_ “”Mxv 0221 Avc ud (veX) LoAEQzZE
€ ud(vix)
1 6 ud (ViX)
? 0L Ud (W)
€02 B=—155T 11 Gd (Vi X)

0 S—Tga zr i (VI

002¢t [Fozr
002! [

Vi

092! |

b
&

In::n:nm

PAGE 129 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

Solid Packaging
L Robotik inc

_ £LMEE £0-032 5015w

I =
guid (ZX) AOF¥E - AD
] _ rud(@x)no-u8-ng
BOLON
H3dE1S 0 ud (ZX) A0/-¥8 - 3A
_ €13 -
_ Gud(zx)+18- N8
¥ud (X g -08
€ud Zx) 8-%d
Zua Y- NO T
L ud (@X) ¥ - HM l~
&
L)
0 Uid (9%) AOF88 - Yid =
LN =
guid {9X) +18- AD
e M
¥ ud {9X) /8- 3A 204
o |
guid (9%) 8- NO
z ud (eX)/¥ - N8 =
et »
L ud (o) W - HM =
@ g
@ @
2 8
@]
PRL < = O
0sEL gud (viX) Z0-VLS LOANAEL o |
R 0560 ¥ d (V1X) LOVIS et vH (S |3
' ¥3dd3LS 8
9702 ==
1951 £ud (vi1X) 8-0LS# E\ ..... \
0T == :
= z ud (¥1X) ¥-OLS# :
'
m
:
A0 —<
05¢0 -
0020 : 2
1
4 T
11 :
[ o T LT L b T L K P Tt T Ly & orsmaonesaases

STEPPEER FESTO STATION 5
PROCUCT COMPE ESSOR

DESCE PO

PAGE 130 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

Solid Packaging
L Robotik inc

| SAdis e sisens
I a—d
8 ud {zX) A0-H8 - AD
ﬂ £ ud (ZX)Ao-u8 - N8
BOLON
e 9 ud (2x) A0/-88 - 3A
yi3
w guid (zx) +18- NG
gud Zx)8-%d =
UG y-NO o
L ud (EX)V - HMm P =X 5
s 8 |8
S 3
0 ud (9%) A0F¥8 - Yd A A =
LN =
G ud (ax) +18- AD
=
¥ ud {ax)/a-3A
=
gud {oxX) 8- NO
=
g ud (9x) /¥ - Ng
=
L ud (aX) ¥ - HM
8 8
= o
(501 MO ¥'0L NOLLJO) LS} = O
0G¥L G ud {¥1X) 20-VLS LOANOPL W Jﬂ._ JW._
sx. v|ﬂ 3O
05EL ¥ ud (v1X) LO-VLS N3dd31S o m
602 o>~
1051 ceud(vixigorss, | | alaa.... .
P02 o> H
LGGL T ud (¥iX)V-OLS# !
:
H
o H
A0 * >
0520 .
0€CO 1
4 T
11 H
BN s e e e o e O B N N e e o e e e e p S e e - AR LT b okt

FLUSNHEL HIZKENT MOOULATION

STEPPLR FEETD

DIETRCHR PTIlE

PAGE 131 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




Solid Packaging OWNER’S OPERATION AND MAINTENANCE MANUEL P[‘eRoII- Er™

L____Robotik inc
i SECURITY RERLAY
2081050
e ™
g S T i
o)) N o N o
o0}
- ()5 ¢+
0520 DSX a@ 09gL g
©
0520 DS} a@ 1951 §
Lo 0520 @,"’_ 3@ (3= §
2 ,i@g §R—2 3
v
¥ &
>
S
™ - eosh | ",:’,_4 2
§=—f5 e 7
Sme
258
0520
o ) (5
§
(0co1 uondo) 2
- osvl T
N -~
s 3
g ma
o
2
D |_Adynd (L) - 2051 [ Ao G -Logk [ | >na[?
- 2 12 & me
@
8 [
g2 2
_ _
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAGE 132 Of 161




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

I”"""”'”“ EMERGENCY STOP I
' =
(=
w
822
> :
2 :
B5% :
gw [ '
w E
N9/ (Lin) - ZalL | E NS (L) - eBL =1 - :
H L= 5 :
ol :
woo .
aypa (L -oLal 1\ 0y (L) - osoL '9 | i i
E | Sl 2 ’
s =) AGHA (L) - 0Pk 1\\ 8 (L) - 0520 :
8 “’—‘| & I[ '
> :
gad ’
ol :
0]
i g i
@ :
[ [ AovIamm (L - ozal | .E MOTIAANHMOM €051 7]
5] : = :
@ i
ol 39WHOIHM(tW'0L9L1;\ MOTIAA (L) - €051 al 05k«
L] 5 -~ e !
= IQ} QeH (L) - 0091 1\\ ¥g (L) - 0520 ;
g ) :
- >

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 133 of 161




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

| pr DOOR SWITCH l

-

24V

3

H8 - 0520

ng A0

a3y - 00

]

40 - 0241

RIGHT REAR
DOOR OPEN
(swz

A - 0LLL

49 -09L1

HM - 0021

A8 - 0521

sw2

26.1

18.1

180

dd -0S20

ng A0

Q3 0520

]

7/

LEFTREAR
DOOR OPEN
(SW1)

40 @ik [ ]

0250
ov

- A - 098l

¥O 0LLL

=y

260

166

HM - 0S8l

165

=

8 - 004k

Lo

[a]

N

w

Lo |

REVISION O

CONFIDENTIAL INFORMATION

PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 134 of 161




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

I“"‘"’"“‘“ DOOR SWITCH l

-

24V

=
o

¥8 - 0520

ng A0

a3y - 0520

]

LEFT FRONT
DOOR OPEN
(SW4)

40 - 0481

JA - 0181

9

o]

49 - 0981 o |

v
283

H - 0081

X8 - 08l =]

|
19.1

18.0

Sw4

Y8 - 0520

na A0

034 - 0520

]

RIGHT FRONT
DOOR OPEN
(SW3)

40 - 0281

0250
ov

aA - 08LL

9

[eo]

49 - 0L8lL = 1

17.6
|

HAA - 0521

Ya-o0mk 5]

17.6
|

SW3

REVISION O

CONFIDENTIAL INFORMATION

PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 135 of 161




Solid Packaging OWNER’S OPERATION AND MAINTENANCE MANUEL
L Robotik inc

PreRoll-Er™

R SECURITY OUTPUTS

(GZASP)
~
T >
i &
[oe) 28 g
¥d - 0520 1 |na-wo fuo
L1 Sa
034 - 0520 \ 4O - 0261 l_la o
r\ P ' l I VT S
© I\ -0L6k 1\:\ ¥ - 0%6L ﬁa -
Hi\ - 0061 1\\ Y8 -0s6k [O] “
(o) = ® = 3
=
0
<
e
T X
80 &
9] Zas=
¥4 - 0520 1 _lna-a Zud
| I a2
o]
03y - 0520 \.\ 4O -0Z6L rﬁg .
N ; 18] g
@ 3A 008 1\’\ 4o o6k []
= g ; L
@ HM -058L 1\\ g -008k [ ]
o & iz = L=
= &
o
J
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 136 Of 161




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

|"'““:“"'11‘:""r SECURITY OUTPUTS I

g Y
_@ 81951 E an18 A0 § g%
o™
_@ 1951 — ;
_E:l[ 195} = 3
_@ 1951 -
_@ L9561 = 2
_E 1951 s
_@ 1951 —_
_@ - 1951 -
_@ 1961 = a
_E 1951 e~
—{8;‘ ©19gL -
_@ 1951 ==
3o Lagl i{ Lagh = 3
_@ N8 -1551 Fgél an14 A0
o~
L8]
_@ 1561 .
__‘E - LGSL - ;
__'EJ L6k e 3
_[:] LGSL @
o™~ b=
_'E LGGL = ;
_@ L5561 =~ @
_@ LGSk _
_@ L1561 =~
_Ell L551 ==
_@ LGSl _—
_@ LGSL -
9 [=E8 @ =8 =~
\_ J
REVISION 0 CONFIDENTIAL INFORMATION PAGE 137 Of 161

PROPERTY OF SOLID PACKAGING ROBOTIK INC




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

{GI5P)

I'J"s‘:""m"I SECURITY TEST LINE

~

D

0250
ov

A i e B e o 8 e A e 8 S e o e A e e S N

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 138 of 161




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

e TR
I FLC

(NX102-1220)

s

NX102-1220

S 7
J1 == 000000U0u000a0a0
H = a0 a0 a0 a0 aoa0a0ad
J1 === 0000000000 a0a0a0
1 a0 a0 a0 a0 a0 a0 a0 ao
41° GO a0 @O ao
| g@© @O a0 ao
4] ° [. G© @O a0 ao
Jl GO a0 @O ao

N g
= -

o

(3]

O

|

o

N

N

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 139 of 161




PreRoll-Er™

O
O

10

O O

OWNER’S OPERATION AND MAINTENANCE MANUEL

O O
felfelfelIelTeXNelNelNe
Ol0[0]0[0[0l0]0]
ololololololo[0
B IO OO OO0
fel el [ol ko] el [o]Kel[e)
A CCICACICIENE:

o

ol [ozl0 o

PLC
(NX102-1220)

Solid Packaging
L Robotik inc

O|O]O ®,

cano |zinol e | au :
O[O0 |O[O]|O

LANO | 0LNO| NI NI ArZ ArZ
BEZE00-XN CrPEaFXN CO0l-XN
9 G £

PAGE 140 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L____Robotik inc
DESCRPTION Nx-1 D2
POWER SUPPLY
f g
8 Q
o 835
oo i
N~ §
© i
0 2| 3
S :
o !
N '
N ;
2 i
= - :
<t 3 |
S i
‘RI_ :
I :
c s
o H
o :
= :
Q :
= !
o~ :
. z
o .
a :
2 :
- AR ;
sl 5
o :
o :
Q :
E H
I |}
I '
X J

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 141 of 161




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

I DE SCRPTION:

Mx-102
POWER SUPPLY

Ve

TAG: 22PLC30

MODEL: NX102-1220

MAIN PLC POWER SUPPLY
GN

J

0250
oV
GND

N Yy S S S R o S G S G SR S g SRS R R SR S S S S S

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 142 of 161




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L Robotik inc
s NX-PFO730
I POWER SUPPLY I
ez =
8 Q
o sz??
e |
N~ :
© |
) :
o v
e 8| O :
= ;
o :
N .
5 s
O] :
SO :
<t @) ;
& E
N~ .
2 :
o :
o S i
| !
| :
Q :
o :
= :
o~ §
> s
o s
a :
b= '
> :
2 i} IS |
§ = :
O ;
d H
= = ;
] < O ;
, W
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAGE 143 of 161




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

I“'“""“ NX-PFO730

POWER SUPPLY

4 B

==

835

o © |
gl O :
=l e :
o !
N .
b :
O] :
2 o |
®) s

8 :
N~ .
2 ;
o :
¢ !
= -
3 :
w :
Qa !
Q :
= :
> |
o :
a 5
3 :
x| = ;
o O :
§ - ;
O i
D_l_ H
= > i
g| Q '

\ J/
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAGE 144 of 161




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

Solid Packaging
Robotik inc

DISCRETE INFUTS
ME-ID5442

I DESCRPT IO R

oL

Hn-0F9L

Q=13

Qd/HM -009L

anNa A0
NMOYE 0EZ

A0v18 0482

a8k

msE

FA-1

40061

761

H0-0Z61

29

H0-0481

zaL

40028l

Ll

H0-0LLL

ZiLL

H0-02L1

PAGE 145 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

6NI

8NI

N~
Z

ONI

GNI

VNI

ENI

¢NI

INI

ONI

yv3y
dOLs
ADNSOE3INT

IA3NYd
doLs
AON3OHE3IN3

0ol1s33
BOLVHBIA
HOLIMS 3WNOH

AVBY
AL33VS

0€071ddC -OVL ¢rrSAlI-XN T13A0ON S1INdNI31340SId O'1d NMIN
foms) {sms) {FMms) {ems) {zms) {Lms)
BOOQO 3aIS H00Q 3aS N3O B00Qa N3dO #0000 N3dO ¥00a N3dO 800a
1331 N3dO LHOK N3dO LNO¥Z 1331 LNO¥S LHOM YY3H LHOI ¥v3N 14310

6

8

L

G

14

€

4

I

0

REVISION O




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L____Robotik inc
s DISCRETE INPUTS
MNX-ID5442

~ ~
T2
o co(.l'J
] i
N~ i
© |
v :
] § & ok 0562 :
w0 |[Fa@ =] ) T i
588 |8 = z
z | == ;
o~ i
N :
B |2 E
o kb = 038 (L) - Ov6Z :
5} -~ )
< [ 2= AN |
: = B 5
o a ]
=z g E
"E 5' @ ) N3T¥O (L) - 0862 :
|5 |2 2 e ~ |
9% - P @© :
(g T ~ :
a i
@) :
Z = o~ ~ :
=E :
w5 ~— A 018 (L) - 0262 b |
~gs | f Sz E - e
e = - % ,
o :
= :
)| Qe :
~le [E| S |
& O Z H
2] - .
& :
9 s
| o :
o g = -~ 0062 i
B2 Z |

I\ y,

REVISION 0 CONFIDENTIAL INFORMATION PAGE 146 of 161

PROPERTY OF SOLID PACKAGING ROBOTIK INC




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

Solid Packaging
Robotik inc

DISCRETE QUTPUTS
NX-0OD5258

Iu.mm'nuu

MOVIS a1

060€E

0c3

080€

{a0) £e19-G g

(PE1PaY) SpUM-¥ Ud

{(PET13RUM) UMmoIg € ud

Lcoe

Eﬂ
)
14

{pe7 3nig) WpEIg Z Ud

0.0€

{p1usaug)enig | ud

090€

0S0€

Or0E

0E0E

T

31K40

ng 0Zoe

ﬁ

A8 0L0E

T

H/\ 000E

ﬂm

PAGE 147 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

61N0O

81NO

.1N0O

91N0O

G1No

v1NO

€1no

¢1no

11NO

0LNO

JEVdS

3EVdS

JEVdS

3EVdS

0€071dcc -Ov1 96Z¢GA0XN 713AON  SINd1NO F13¥0SIA O1d NIVIN
NOILJO N3ZuO ania a3y
Fuvds Iuvas ONILHOM ¥ve 031 ¥ve 031 ¥ve a3

€

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

Solid Packaging
Robotik inc

DISCRETE QUTPUTS
MWX-0D5256

I EECHPTION

0SLE

OFLE

OELE

0ZLE

oLLE

0oLe

PAGE 148 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

GgLino

vi1No

elino

¢l1ino

L11NO

011NO

95¢SAOXN “T3A0ON  S1INdLNO 313¥OSId O1d NMIN

0€01dcc OVL
NOHNO 3AIEA [(e=p ETTIETN
Divug AV
NOILDO Wns

ADOTSONCOIN
¥04 AQY3 Y
NOILJO

3EVdS

JEVdS

JEVdS

8 2 9 g

14

€

REVISION O




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

IL'L:CNI"II'_'N

FESTO BLOCK

s

0ol W00

(e ){mm)4{i ll| |

© "0
0 "0

Power Supply (ESM)
1: 24V (230)

2:IN1

connector for the
30V
4:INO

Pin out of the

REVISION O

CONFIDENTIAL INFORMATION

PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 149 of 161




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L____Robotik inc
MNX-102
INTERFACE
LEGEND
TAG TAG DESCRIPTION PART DESCRIPTION PLAN PAGE
BO Block 0 Module de comunication 44
B1 Block 1 Input Module 45
B2 Block 2 Input Module: 46
B3 Block 3 Input Module 47
B4 Block 4 Input Module: 48
BS Block 5 Input Module 49
B6 Block 6 Input Module 50
ITF Interface Interface Module 42
SA1 Air Source 1 Air Supply 42
M1 Module Valve 1 ax% 42
SA2 Air Source 2 Alr Supply 42
M2 Module Valve 2 4%% 42
M3 Module Valve 3 4x% 42
SA3 Air Source 3 Alr Supply 42
ESM1 Power Block 1 Alimentation 24 VDC
M4 Module Valve 4 4x% 42
M3 Module Valve 5 4x% 42
M6 Module Valve 6 4 %% 42
M7 Module Valve 7 4x% 42
SA4 Air Source 4 Alr Supply 42
Ma Air Module 8 4x% 42
M9 Alr Module 9 4x% 42
M10 Alr Module 10 4x% 42
M11 Alr Module 11 4x% 42
SAS Air Source 5 Alr Supply 42
ESM2 Power Block 2 Alimentation 24 VDC
M12 Module Valve 12 2%% 42
SAG Air Source 6 Alr Supply 42
M13 Module Valve 13 1% Proportional Valve 42
M14 Module Valve 14 1% Proportional Valve 42
ESM3 Power Block 3 Alimentation 24 VDC
M15 Module Valve 15 4x% 42
SAT Air Source 7 Alr Supply 42
CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 150 Of 161




Solid Packaging

L____Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

DESCRPTIONR: FESTO
BLOCK (B0)
4 X

8 [=]
823
ol O !
5 @) !
X :
el H
5 2
= O i
O :
e :
o H
o :
s 1
N :
n el H
2 s
gl 3 i
X e
Q ;
@] H
- '
0 '
(@] > :
'u_"i o !

wl e

A J

REVISION O

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 151 of 161




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

FESTO
BLOCK (B1)

Solid Packaging
L Robotik inc

{umoq)
aAEA Jossadwo) | £€8SGE

{umoq) j3ung umogdn | 28SSE

2

aiedg | L8SGE

{.0)Z # 2um dng

siedg | 08SGE

AO
j A\ 74
(gs-0en)  zose 51 NI
{dn) aaEa sossaudwo) | £LSGE __ (GS-05n  oose V_‘ Z_
NO
1 - A\ 4
(bs-2ZN)  go5E €L NI
{dn) j=un) umogydn | TLSGE __ S -zzn)  pose N_‘ Z_
AO
j A\ 4
¥s-12N)  €oge LLNI
resss | ws1zv zese | O NI
AO
1 A\ 74
{#s-0ZA)  LOGE 6 NI
{.0) L #1eum; dng | ausse __ T e S NI
3¢}

Zy Pue L abed o) g3 3 sead ‘ucgdipsapied o4 SHON

~

A0 |
I\ 74
b
(ss010) s:2pjoy Bussog | EESSE seen o | LN
| _—
{uadQ) sispjoy Busog | €2SGE #S-6L0)  oLse OZ_
A0 |
< A\ 74
b
sds | zesse
SIS zs-8LA)  Glee SNI
{dn) ispufo Bupeo | ZZSGE __ @s-sin  wioe ¥ NI —
A0 |
< A\ 74
&5
eds | tessE
s won e | ¢NI
| _—
eieds ||| 25 won zse | ¢NI
A0 |
A\ 74
x
-
S| A @ on s | NI
| _—
s || geSue @swen o] ONI
19

DE SCRPTHOR

PAGE 152 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

Solid Packaging
L Robotik inc

DESCRPTION

FESTO
BLOCK (B2)

A0

Ave

24595 | cosoe “

{zs

- LEA)

L00g

GL NI

{zs

- 1EA)

oget

¥ NI

A0

AVC

i

siedg | 28SOE

(@n) susnods [ o]

{zs-

6vA)

Goac

€L NI

£

aNeA jeucgodold

lzs-

evA)

veee

CL NI

A0

{umoQ)yn sspno suo) | LBSOE

Ave

i

{zs-

2A)

£eec

LL NI

{dn) w 1m0 3W0H _ LLS9E __

{zs-

&A)

ceec

Ol NI

A\ 74

(umoq) mpisucojamy | 0BSOE

T

{os-

ZZA)

Lgag

6 NI

=uedsg | 0ZS0€ _

8 NI

[4S|

Z¥ PUe | =Bed 0 13431 asesyd "uogduossp 1&d 10 4 SSION

AO

A\ 74

[nn

=uedg | £€S0E

LNI

srdg | €259¢ __

9NI

AO

auedg | 2ES0E

Ave

i

G NI

~

124

aedg | ¢TSee __

¥ NI

A0

{umoQ) wy Jossaudwico =uoD | LESOE

Ave

i

{gs-gzn)

gLee

ENI

aedg | LZSOE __

¢ NI

AO

aueds | 0£S0E

Ave

T—

L NI

34

ardg | 0ZS9¢E __

ONI

PAGE 153 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

cd

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

FESTO
BLOCK (B3)

Solid Packaging
L Robotik inc

DESCRPTION

AND -=ssmmmmesmsrmms e

AO

0520

AO

Ave

{umoq) suco yn | £8SLE

|

foLs -

=V

SL NI

{dn)=ucoyn | €£8.¢

foLs-

gole

¥L NI

AO

Ave

{umoq) sucoyn | Z8SLE

sxdg | TISLE 1

fes -

ol

€L NI

¢l NI

AO

Ave

{wbry) opeaedss e | LESLE

s -

€98

LL NI

=) oEEdss ey _ (922> __

s -

cale

OL NI

AO

Ave

amdg | 08SLE

fes-

Laie

6 NI

axdg | 0LSLE __

8 NI

€g

¥ PUE | =6ed o) iy3u sssd "uondio ssp ped 04 SHoN

AO

Ave

amdg | €55/

[

amdg | £25LE

FAYiS

L NI

oLie

9 NI

AO

Ave

i

aEdg | TESLE

2

GLie

G NI

amdg | ZTSLE L

2

¥Lic

¥ NI

AO

sEdg | LESIE

Ave

amdg | LTSIE _

€Lie

€ NI

-€EA)

cLic

¢ NI

AO

Ave

i

{uvoq) gy swoD | CESLE

LLie

L NI

ardg | 02SLE __

0 NI

€d

™
AN

PAGE 154 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

Solid Packaging
L Robotik inc

FESTO
BLOCK (B4)

DESCRIPTION

AND =----smssemesess

AO
0520

aeds | £858¢

asedg | Z8SBE

UOIE|NWNIOE

30N} Ul 3UCO WNWILIY

Z#x0q Juasaly

A0 —
1 I\ 74
=S
T GL NI
_ | -
uonE Oy Josuag SSIMY | ££S8E CEETE 7L NI
A0 —
1 A\ 4
23
(¥S)  coge ELNI
| _—
sieds _ cSEe ] w v | N
A0
AvE
|_|_l_ =3
18588 T LL NI
| ||
ssand wawo) | LLSBE z8)  zese OL NI
A0
1 A\ 4
&
ki (zs) e8¢ 6 NI
|#x0q30ussalg _ 0588 __ T T 8 NI —
vg

Z¥ PuE |y 26ed o J3y2u asea)d ‘vosduosap wed 104 FHON

N0

Ave

L NI

X

9 NI

Ave

S NI

£x

¥ NI

Ave

€ NI

X

uadQ saunD | 1ZSBE l

(ts-6ZN  ziee cNI

Ave

(dn) pox usnd | 0ESBE

(0P A) LiBE L NI

bX

asedg _ 0zsse __ 0O NI

v

PAGE 155 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

Solid Packaging
L Robotik inc

FESTO
BLOCK (B5)

DE SCRPTHOR

0520

AO

Ave

nopeausant | £856¢

z1s)

1962

GL NI

upesason | ess6s

zLs)

= =1=

¥L NI

AO

uojporusd | zeses

74

axdg Nnmg_

z1s)

GoeT

€L NI

¢l NI

AO

Ave

uomsod UfkH Z# uogels | LESES

{zs)

£€06T

LE NI

FA'S

uomisod Mof 24 UCGSS _ LiSES __

(zs)

coes

O} NI

AO

Ave

[puLNny I3 A B | 0BSES

#s)

Loes

6 NI

J2UUny SQuIng 38 MO | QLSES

s)

ooes

8 NI

G4

¥ Pus Ly 3Bed 0} Jg31 ssesd ‘Logduosep 18d 04 BN

peypeq uogss =qni | ggses

ucgEIBUOD &Y | ZESEE

& =ded jauung jo souessd | LESEE

Z& ;Bded jpuung jo sousssug _ LZsee __

1# ;=ded jsuuny jo sousss g | 0ESES

soeidu Jouss Souwn) | 02SSE

PAGE 156 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

A0
Ave
N
2vs)  Zies LN
| —
soeidu sgny uogog | £2S8E (zvs)  owee M
N0 —
Ave
&
GLeE SNI
_ -
2uedg | ZZS6E 6s)  #L6E kN
A0 —
Ave
£
#s) <ciee e
ws) zec Nl ==
A0
AvC
3
#s) Lee E
1 -
#s) owee ONI
cg

REVISION O




PreRoll-Er™

OWNER’S OPERATION AND MAINTENANCE MANUEL

Solid Packaging
Robotik inc

FESTO
BLOCK (B5)

I DR THOR:

-

AN === == meme o e o e o e e e e e e e e e e e e e e o e e e e e s e e e e e e e s et e e e e e

N0
0520

3¥vdS

3uvVdS

3yvdS

34vdS

3yvVdS

34§vdS

34¥vdS

3yvds

AO

Ave

GL NI

L NI

AO

e

€L NI

CL NI

A0

ax

LX

e

LLNI

9x

OL NI

AO

e

6 NI

GX

8 NI

94

3¥vdsS

3yvVdS

3¥vdsS

3§vdS

3y¥vdS

34vdS

348vdS

34§vdS

Z¥ pue |y 3bed o s3yau aseayd ‘uonducsa p wed 104 S=oN

-

AO

Ave

L NI

9 NI

AO

A\ {4

G NI

¥ NI

A0

X

£X

4

€ NI

X

¢ NI

AO

A4

L NI

bX

0 NI

94

PAGE 157 of 161

CONFIDENTIAL INFORMATION
PROPERTY OF SOLID PACKAGING ROBOTIK INC

REVISION O




Solid Packaging " _ ™
| Robotikinc OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

ETHERMET

CONNECTIONS

24V
ov
GND

]
ﬂ
ﬂ

22SW60

NX102
19216871

22SW40

E
ials
B

192.166.7.2
o
I
1
i
|
1
'
i
i
'
I
i
1
i
]
i
i
i
I
i
i
1
i
i
I
L

192.1687.3
BAL 1
1921687 4
BAL 2

'_.
'
CAM1

REVISION 0 CONFIDENTIAL INFORMATION PAGE 158 of 161

PROPERTY OF SOLID PACKAGING ROBOTIK INC




Solid Packaging
L Robotik inc

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

-

o ohERgy ALTRRERED S
£, DlpERa -, DhpEma ]
EI*OO @ :i
ELTSRSRED W resesaD i
SN Tl :

- i, CERED

<R, ClepREEE ) |

Ii:::::::::: g" : (it
-, epdEED)

So[M=. ==}

: : —~ZTh

REVISION O

CONFIDENTIAL INFORMATION

PROPERTY OF SOLID PACKAGING ROBOTIK INC

PAGE 159 of 161




Solid Packaging

OWNER’S OPERATION AND MAINTENANCE MANUEL

PreRoll-Er™

L____Robotik inc
VALVE LEGEND

MODULE ADDRESS SECTION DESCRIPTION ACTION
M Vi 33 Positioning air Jets Fix
M1 V2 Fix
M1 V3 Fix
LK Vi 4 Cleaning of the balance Fix
LK VE SO Cleaning of the balance Fix
M1 V6
M1 V7
M1 V8 S4 Cone Blower On/ Off
M2 [E] S10 Air brush cone ejection
M2 V10 S11 Cleaning suction Fix
M2 Vil
M2 V12
M3 Vi3
W3 V14
W3 Vi5
W3 V16
M4 V17 52 Cone loading clamps In / Out
M4 V18 52 Loading cylinder Up [ Down
M4 V19 54 Dosing holder Open/ Close
M4 V20 S4 Cup tumer #1 Rotation 0°- 180°
M5 V21 S4 Cup turner #2 Rotation 0-- 180° |
M5 V22 S4 Up/Down Turret Up ! Down
M5 V23 S5 Cone compressor Iift Haut 7 Bas
M5 V24 S6 Twiss tip damp Open{ Close
M6 V25 S6 Cone twist pliers Open/ Close
W6 V25 S6 Up/Down twist pliers Up 7 Down
W5 Va7 56 Twist cone [ift Up  Down
LI V3B S7 Cutter cone it Up / Down

VALVE LEGEND

MODULE ADDRESS SECTION DESCRIPTION ACTION
N7 i) S7 Tip cutter kni e Cut
N7 VLY 55 Compressor Up7 Cown
M7 V31 S7 Cone cutter pliers Open / Close
N7 V32 53 Cone [ift (opion) Up7 Down
M3 PEE] L) Cone pliers #1 Open / Close
NE VKL 53 Cone pliers #2 Open / Close
N8 V35 55 Up/Down ¥andaton Up7 Cown
M3 V36 S9 Translaton In/ out
1E] V37 53 Fall separabr Left/ Right
MS V32 EE) Cone lift Up/ Down
NS V33 510 Cone Iift Up 7 Down
MS V4o S11 Up/Down brush Up / Down
M10 V41 S4 Cone funnel vibrator On / Off
M10 Vél
M10 V43 52 Cone retainer Open / Close
M10 VED) S7 Tip compressor Up/ Down
M11 V45 512 Tube stopper Open / Close
LK Vg S$12 Turn tube feeder to wheel Up / Down
LLKE Va7 512 “Push wbe to holder n/0ut
M11 V43 512 Tube magazine Up/ Down
Mi2 Va5 54 Tumbleur funnel vibrator On 7 Off
M12 V50 55 Power proporional vale plier Open / Close
M13
M14
M15 V53 52 Ficand place Open / Close
W15 V54 512 Tube aspiration holder On / OFf
M15 V55
K] V50 510 Slide air brush Tn/0ut

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 160 Of 161




Solid Packaging " _ ™
| Robotikinc OWNER’S OPERATION AND MAINTENANCE MANUEL PreROII Er

s LAYOUT ELECTRICAL
PAMNEL

------------------------------------

301.5937

00 ool
=
oo ool

CAB1

EEEEREE

B

o¥o ox; o 10 urw PP
O OO ICIOIOIOIOYIOOlg

CONFIDENTIAL INFORMATION
REVISION 0 PROPERTY OF SOLID PACKAGING ROBOTIK INC PAG E 161 Of 161




